Algebra (SSC Pre+MAINS-2023)

R —

Exercise [ 3+ Y21
o 5. If/afgx=
(VE+42)+(V3-42) (B +v2)-(v3-\B)
If (\/5+\/§]—(J§—\/§) + (\:‘§+\=‘§)+(J§—\i§) = (95.12 + 942 - 188 x 95.1)(95.1% + 942 + 94 x 95.1)
| | 95.1¢ — 947
)
~JP then find the value of ‘P’ x+ 0.9
6 then find the value of (X ) 9]
(VB+V2)+(V3-42) (VB +2)-(VB-2) . | |
e - o - L . ([ X+ 0. .
Rl ('\"'3 + \-"2) —(-y"S - \."2) - (\/5 + \/5) +(\\"'3 —'\"E) Za [X ~0 9] Wqﬁmml
5 (A) 10 (B) 100
g-\/ﬁ % T P A T AT (C) 80 (D) 40
[A) 3 [B] 4 Tidy5 . .
(C) 5 (D)6 6. Ifx= (4096) then which of the following
equals to 64.
X+ yx?-1 X—x*-1 =
i - _ ' S THT g 3o A o _
IfX__m <+ Ji 1 482 then find the e x = (4096) tof=d A AT 64
value of 'x'if x > 0. R T |
X+ 4x?-1 x-+x2-1 7 e 1 7
afg — + —— =482 d'x' WA X X" x” X
X—yxi-1 x+yxi-1 Wer B O DEE
n e . X
A ifeg (AT x> 0) |
(A) 11 (B)-11
(€) 13 (D) 15 7. If/m%'a=Man P (A 'E)
J7 -3 V7 +43
x2 paxi=1 x2 - Jx-1
3. If/_qﬁ ar - + 3 : =106 a2+ ab + bh?
X2 —yxt-1 xP4+yxF-1 then find the value of ———.
a*—ab + b?
then find the value of 'x'".
2 q '’ 1 HF 9 HI . . a*+ab+b? -
(8) 3 (B) 4 & a*—ab+ b* R l
(€)5 D)6
W%, ®% (©% (D)None
a. 1f/=fE AR CRR AR Jx
- 1 - = X
VT-V5 T+ 8. Ifx+ 1 =3 then find the value of
then find the value of 'x".
A e B (x-1g
(A) 35 (B) 70 1 1
(C) 105 (D) 140 (X B X) X+ %
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. : +1
x+ 1)) (x-10 12. Ifx= 342 then find the value of —— +
aex+ Y =atd (-1 s 1 1AM <1
' ' x+1
I e | .x+1 x-1
= d Tt
7 L4 14 Aex=.3+.J2 ® 1 1 T I RIf |
WE  PaE i [DiNonme *2 B 6
(€ -Jo (D)3
L _17
(X " X) (X X) 2 3
9. If 1) " (e L) T Ithen find the value | B2 (V-2
x x . pigl € value o0 Jg—\/E \/§+\/§
1 :
of X7+ 5. x/§+-\/§1 V3-2)
X N NP T A G BT |
(x + L ) (x - lx) ) (A) 1030 (B) 990
) ) S LA (€) 940 (D) 970
SX X
. 14, Ifx=3+ QJE and xy = 1 then find the value of
AW |
(A) 322 (B) 194 X+ 3xy +y°
(C) 623 (D) None X* _ Sxyyak
. _ x*+ 3xy + y?
'\ - = -
o [fX 2y ) —y 182 s x = 3+ 242 ﬁ?xy—l%?ﬁ PR —
) x2-yh gt +y~ C 37 HH F1d FIT |
211 201 211
3x+v == = -
value of 7 —. ) 29 B 39 (© 57 (D) None
s a4 y » 15. Find the value of
gt i T e
> X__V - ym. + XS'_. yj'. _ 18 ] M—ﬂ sinf + cosf  sinf-cosb | ,
CXZ-yt x4y 37 = 3x-y sinb — cos 9 " sind + cosg | (S8 — cos?0)
A FA FT {Sﬁ18+cosﬂ+sin€—cosﬂ} - ,
5 5 sinf —cosf sind +cosd (5in°9 — cos®d) =
) 5 B) 5 (C) = (D) None et
(A) 1 (B) 2
J2 +1 (€3 (D)4

11. Ifx= and xy = 1 then find the value of
‘/_ 1 V3+x+V3-x V3+x-3-x

. + =0
2x% 4+ 3xy + 2y* 16 J3+x-43-x V3+x+J3-x 2 then
2x* - 3xy + 2y* 2%
find the value of 3 + 5.
\/§+1 . . 2X4+3xy+2y
x=5T] XY = 18R o aﬁ-\/3+x+\/3—x L Prx-B-x Coia
T F J3+x —J3-x J3+x+403-x e
2x -
0 Y5 (B) 3+ 242 3 5 WA T S
a1 (4) 5 (B)6
(€ ©Jss (D) 3-2v2 (C) 7 (D) 8
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17.

18.

19.

20.

21.

22.

Mother's Advance + Algebra

NE+1+x-1 Nx+1-+x-1 _

f —— - ————— 73
vx+1-+x-1 Jx+1l+4x-1 843
then find the value of 'x', (x > Q)
CVxHledx-1 Yx+l-yx-1 _ S
CWxA1-Ux-1 0 WxHledx-1 83 °
'x' T WA 6 HIT9C |45 (x> 0)
(A)7 (B) 4
(€) 5 (D) 8
J5+1 V5 -1
Ifx=ﬁandy=ﬁthenﬁndﬂlevalue
X:1+X2y2+y:‘,
Of XS_X2y2+y3'
. \/g-l-]_ . 51 . X% 4 x*y® + y@
'qfq'x=—3‘?l'{y=\/_—%' ﬁ
J5 -1 V541 X=Xy 4y
I | Fd i |
A 21 B 9 C @ D) N
Wig B>  (© g (D) None
1 1
Ifx= 2+J§,y= -0 then find the value
of 8xy(x? + ¥7).
arx= — — a
- - > 8 SRS =)
X= 0 B Y o " Xy(x®* + y%)
AT 0 Shiferd |
(A)y112 (B) 194
(C) 290 (D) 196
V13 + 11 1
Ifx= 5 -1 andy= - then find the value
of 3x* - bxy + 3y=.
. JI3 +411 1
= 0 = — 2 __ _;,_"' 2
o1 A FItRG | o s e E ?
(A) 1717 (B) 1771
(C)1719 (D) 1177
Simplify / FA HITAT :
S5+ (J5-1 3_3
Vs-1) T is+1)
A)5y5  (B) 85 (C) 25 (D) None
J5+43 J5-3
If = + then find the
2& J\/g_\/g J§+J§ en fin e

1
value of (X + _] )
X

23.

24,

25.

V5+43 J5-\3 . ( 1}
= If . = + qr | X+ — |=1
TRl 2% Jﬁ—ﬁ B T
A F1d T |
Aa) 7 B) ¥, (© 194 (D) None
B A a7 A7
a2 _p a2 + b2
If —; w t T 3. = 4 then find the ratio
HER N a2 —p2
of ato b?
oY% 1% o% bk
e S + 5 =4 ETadbTEH
a2 +h2 a2 —h2
ST 91 I
(A) 3% .1 (B) 3%.5% (C) 3% .5% (D) None

sind +cos sind —cosb

+ —
If sind —cosb  sind +cosd 4 therlig the

value of 'tang'.

sinB+cosB sind -cosp

Sin0-cos® = sind+cosd 4 4l 'tan6' #
A A T |
i N (B) V5
(C) 2 (D) None
i+
If o = tan® + cotd, B = —tanb and \/&—\/B +
Ja+\/5 = 1 then find the value of 'sin?6
fi+ B

% o = tan@ + coth, B = —tan® 3R JE-JE +

Vo - B X .
m = 1 &, 9 'sin?0' & 79 I Hitag |

) Y B) ¥

(D) None

4. (D) 5. (B)
9. (A) 10. (A)
14. (D) 15. (A)
19. (a) 20. (A)
24. (D) 25. (B)
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Algebra

(SSC Pre+MAINS-2023)

]
[ Type-II ]
Exercise [ STHIA Y21

1
If x? - 5x + 1 = O then the value of[X4 +;] -

(x2 + 1).

1
"qﬁX”—SX+1=O%ﬁf[X4+;] +(x2+ 1)H
ATEN

(A) 21 (B) 25 (C) 24 (D) 22

[fx*- f7x + 1 =0 then find the value of
X+ x7,

T x2- frx +1=0F WX +x3 HMAFEN
(&) 1047 (B) 447
(€) 747 (D) 347

1
If jx + E =3,x >0 then x#x*-47)=7?

1 .
af Jx + W =3,x> 08 Ax(x2-47) FHAE

(A) O (B) 2
(C) -2 (D) -1

1
Ifx + e 3, x> 0, then find the value of x*(644
- 2x%).

1 .
af x + < =3, x> 0 ¥ T x°(644 — 2x°) = 7 I

I |
(A)1 (B) 2 cy-1 (D) None
8x ]
If -5 =1,x>0then what is the value
2%+ 7x -2
of x* + — .
<
8x 1
el 34
?TFQ'QX“?X_Q 1,x>0%?ﬁx+xs?ﬂﬂﬁ3ﬂﬁ
I |
517 5 3 3
@7~ By ©F DOy

6.

10.

[fx%*-4x + 1 = 0 then what is the value of (x* +
x9).
AR x2 - 4x+ 1 =0T q (x° + x°) T AN foFEF TR

g

(A) 2786 (B) 2702

(C) 2716 (Dy 2744
1 1

Ifx+ — =5thenx*+ — isequal to:
X X’

3

Mxr - =5EAE T — wATE
(A) 110 (B) 130
(C) 145 (D) 125

1 1
I[fx- —=6then x*- — isequalto:
3 x*

X 1 . 1 .
q{ax_;=6%ﬁrx*—; FIAAE |

(B) 176
(D) 198

(A) 216
(C) 234

1
If x* + pri 11, x > 0 then find the value of x*

b -

i 1 : 1
e xr+ — =11, x> 08 A+ — WMATIQ
X X

el |
(A) 18 (B) 36
(€C) 10,13 (D) 8.5

=7
2

1 1
+— =4/ n x2+ —
Ifx < 4./3 then x° -

1 . 1
aex+ — =43 TAIx+ ;—cﬁrnﬁ%l

(B) 44
(D) 52

(A) 46
(C) 56
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11.

12,

13.

14.

15.
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1 1
Ifx- <" 2.2 then find the value of x® + oy
. 1 . 1 e
afe x - ;=2.J§ sa x4+ ;wnﬁaﬁmﬁn{, |
(A) 16 (B) 12

(C) 11 (D) 10

1
If x + < 2.3, x > 0 then find the value of

)

afg x + i =2/3.x>0%d [X”—éJﬁb‘rﬂH‘ﬂlﬁ
Bl

(A) 46 (B) 10

() 14 (D) None

If x2 - x./68 + 1 =0 then what is the value
[*-3)
X__

X
_ . 1
e xt - x G +1 =02 |X—— | F I T

Hiferm |

(A) V66 (B) 8
(€) Vo2 (D)6

1
Ifx=3_2/2then jx + @ is equal to :

1
A x=3_02J2 8§ Jx + EWWW%I
(B) 1
(D) 2v/2

1 7
Ifx* + o = 3 for x > 0 then what is the value

: 1 7 1 N
AR+ — = —, x>0 g Ax+ —F AR fFAF
X 4 X

(©) V5

5
(B) g (D) V3

16.

17.

18.

19,

20.

1
Ifx + < 3+/2 , then what is the value of x° +

1

5o

X

1 1 e
g x + - 32 B x4+ = 1 TH F1q FfaY |

(A) 1783 (B) 7892
(C) 158142 (D) 7172
1 :
If 3x - A% = § then what is the value of x® +
J
1
81x2"
. 1 . .
e 3x- — =9 % Ax2+ — =1 HME s wen
3x 81x?
%7
(8) 7 B 83 (©1 D) 1214
. 27
3 X =-—
I[fx - — =6, x# 0 then the value of x*
. x2-3x-3
is.
o2
3 2
A x— — =6,x# 08, & ——>— = 47 I
X X?-3x-3
T ;
(A) 90 (B) 270
(C) 80 (D) 54

I[fx®-1442x*+ 1 = 0, then a possible value of x
1.
- —is:
X
. 1 .
afg x8 - 1442x*+ 1 =0 dix - < T AT T & -
(A) 5 (B) 8
(C) 4 (D)6
[fx? - 16x + 59 = 0 then what is the value of (x
1
b — 6)2 .

_6)2+(

AR x2— 165+ 59 =0F, T (x-6)2 + (Xi
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21.

22.

23.

24.

25.
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T HRITAY |
(A) 14 (B) 18
(C) 16 (D) 20
[fx* - 12x + 33 = O then what is the value of (x
1
- 4)~ + (X _ 4)—’
. 1
e x? - 12x+33=0 2 dl (x—4) + (x—ay T
forerer R grm 7
(A) 16 (B) 14
(C) 18 (D) 20

If x*-4x + 1 = 0 then find the value of x* + X" —
194x" - 194x3.

e x*- 4x + 1 = 08 A x* + x7 - 194x° - 194x> =
A fefwer aer g1 ?
(A) 4

(€)1

(B) -4
(D) -1

1
X +5)

IfX”+X=19then(X+5]+( =7

. 1 .
FE x4 +x=19 T (x+ 5) + m?ﬂtﬁ%’;

(A) 7
(C) 8

(B)9

(D)3
[fx"+x1=194, x > 0, then the value of (x — 2)?
is :

af x* + x* = 194, x > 0 & @1 (x - 2)* *1 A4 74

I |
(A) 1 (B) 6 (€) 2 (D)3
7+4J3
Ifx= ———= then find the value of x* +
7-4J3
1
T+4J3 , .
- 6. =
afs x e g X+ HHA |
(A) 2702 (B) 2786
(C) 1154 (D) None
_ 1
fix+3){x-1)=1, theni{x + 3)° - (x + 3):-; .

27.

28.

29,

30.

31.

1

T (x + 3)(x - 1) = 1 ¥ T (x + 3)* - m ket
L

(A) 96 (B) 76

(C) 86 (D) 45

If x? - 3x + 1 =0, then the value of x'? + x* —
123x7 - 123x% is :
A x?-3x+1=0F A x¥+x® - 123x" - 123x3 H

oA
(A) =7 (B) -6
(€) -5 (D) -8
[fx* + x = 11 then find the value of (x + 3)* —
125
(x+3)* =7
i . . 128
A x2+ x= 11 T (x + 3)* - (x+3): T AT
i |
(A) 1000 (B) 75
(C) 200 (Dy 50
' 1
fx*+4x —4=0theni{x+ 5+ (x+5) =7

1
AT x>+ 4x —4=08d (x+ 5)° + (x+5)s A

(x+5
T HRITAY |
(A) 200 (B) 234
(C) 198 (D) 189

[fa-b+4=0and(x-aj(x—b)=1then find (x
1
(x-a)?
Fra-b+4=03R(x-a)(x—b)=1 FqA(x—a)*

—ﬁmmaﬁaﬂm;

- a) - =7

(A) 76
(C) 702

(B) 108
(D) 810

[fa-b+4=0and (x-a)(x—b)=1then find the
1
value of (x —a)* + (

x—a)*"

aAa-b+4=03R(x-a)(x-b)=12T (x-a)°
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+(X_71a)33mm=raﬁﬁml

(A) 1720 (B) 1820
(€) 21420 (D) 22420

32. If(x-a)(x—b)=1anda-b+6=0thenfind the
1
value of (x — a)® + m
e (x-a)x-b)=13Na-b+6=0% @ (x-a)*

+ ﬁwmmaﬁﬁm

(A) 3540 (B) 3740
(C) 3940 (D) 4140

33. If(x—-aj(x-b)=1landa-b+5=0then whatis

1
x—a)*"

the value of (x - a)® - (

A (x-a)(x-b)=18Ra-b+5=0FF (x—a)*

1
—m?ﬂﬂﬁ%:

1

34. fx*+x=>5then(x+ 3+ (X+3)3=?
1
A x2+x=58d (x+3)° + quﬁ%ﬂ
(A) 130 (B) 120
(C) 110 (D) 140

1 1
35. Ifx+ - = 3 then find the value of X7 + X——

1 . 1 -
ofg x + < =38dix + < T A A RIS |

(A) 813 (B) 823
(C) 833 (D) 843

(A)-125 (B) 1
(C) 125 (D) 140
-----[: ANSWER KEY :]
1. O 2. (B 3 (D 4B 5 @ 21. (B) 22. (B) 23. (B) 24.(D) 25. (A
6. (B) 7.(A 8 (C) 9.(C) 10. (A) 26. (B) 27. (A) 28. (C) 29.(C) 30. (A
11. (D) 12. (A) 13. (B) 14.(D) 15. (B) 31. (&) 32. (B) 33. D) 34.(C) 35 D)
16. (D) 17. (B) 18. (A) 19. (D) 20. (A)

Study Center : lJaipur « Gopalpura = Lalkothi « Jhobwara « Ambabari » Alwar

» Udaipur



(SSC Pre+MAINS-2023)

Algebra

]
[ Type-III ]
Exercise [ 3+ Y21

If aja + byb =183, bJa + ab =182,a, be 6. Ifx"=1, solve for all value of
9 X A
Rthen _(a+b)=? x ¥ o x X
. l+x*  1+x I+x  1+x*
A ada + byb = 183, hya + aJb = 182, 4, N » . o
e x5 =1 & dr + + +
be R%?ﬁg[a+b]$rﬂﬁ%l - ¥ 1+x*  1+x"  1+x  1+x°
(4) 73 B 71 1 T fReE AR F |
(C) 146 (D) None (A) 1 (B) 2
(C)3 (D) 4
1
B3R5+ U5+1 A2 *BY5 +CandAB | o0 1455 - 3/3y%) = (VBx - V) = (Axt + By +
C € R then find the value of A+ B + C.
1 Cxy), then the value of (3A+B— \!15C) is :
T s Ue a1 - A 25 +BYE +CHRAB, V5 TN
CcREFA+B+C T ARE) e (553 - 33y°) = (VB - V3y) = (ax + By?
A)D B)1 ; .
(A) (B) ) +ny]%'ﬁr(3A+B—\f15C)Eb‘rHHaﬁ-‘?T{|
© % D) Y4 (4) 3 (B) 12
fx*=17x+vy.y*=x+ 17y, x #y then find the © 8 (D)5
value of x>+ y2+1? 8 Ifa*+b*=217and a+b =7, then the value of
s o A et ; abis: ‘ o
=g x 17X+y,y~ X+ 17y E TR x 2y T A e ot + b* = 217 Hra+ b= 7 & 3 ab B EH T
JxZ+y?+1 FMAALN 5
(A) 16 (B) 17 (A) -6 (B) -1
(€) 18 (D) 19 Q)7 (D)6
lfax + by = 5, ax® + by? = 10, ax* + by’ = 50, ax* 9, What is the simplified value of
+ by'= 130 then 13(x+v-xy) - 120(a+b) =7
fg ax + by = 5, ax® + by? = 10, ax® + by® = 50, ax* 1 .1 2_ 1 21
+by1=\130%'?ﬁ 13(x + y—xy) — 120(a + b) F AR ] y y [
A R |
(A) 42 (B)21 1 : 1 2 1 21
() 63 (D) 49 1 [x+—] _[x-_] o
8] v v Jaﬁrwﬁlﬂﬁl‘q
If {x + 1+ 7] (y +1+¥?) = 1 then (x +y)* = ?
X X
aﬁ(x+\f1+x2)(y+1fl+y2) =1%d(x+ype= (A]g [B];
A F1d I | Ax ox
(A) O (B) 1 (C) — (D) —
(C) -1 (D) 2 Y
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10.

11.

12,

13.

14.

15.

16.

Mother's Advance + Algebra

If x* 4 x%y? + vt = 21 and x> + xy + y* = 3, Lhen whal is
Lthe value of 4xy ?

A + 3y + v =21 IR + xy + v2 =3 %, T dxy 1
T TR ?

(AY12 (By4
()-8 (D) -4
If (2x -5y - (2x + 5¥)° = y [Ax® + By?], then
what is the value of (2A - B)?
afg (2x - 5y)* - (2x + 5y)° = y [Ax® + By?| &, 1 (2A
— B) I M @ Fitad ?
(A) 25 (B) 40
(C) 15 (Dy 10

21 3
Ux*+x*y+y= somzand x* + xy + ¥ = 7

256
then 2(x* + y3) =7

16°

qﬁx“+x2y2+y—

2]

2563ﬁix"+xy+y3— E’% T 2Axz+yY =7
5 5 3 3

@A) 17 (B) g (€ 3 (D) &

Ifa-h=5& a?+ h?= 45, then value of abis ?
afg a-b =58 a®+ b2 =45 &, 9 ab & AF F1

g7
(A) 20 (B) 10
(C) 25 (D) 15

If x” - 512y° = (x? + Ay9)(x" - Bx®y? + Cy"), then
what is the value of A+ B -C) ?

e x° - 512y° = (x> + Ay?) (x* - Bx*y2 + Cy*) &
(A + B = C) = H[ 34 i |

(A)-80 B)y-72

(Cy72 (D) 48

fa*-b*=208 anda-b =4, then{a+ b)*-ab
is equal to:

At a® -b* =208 AW a-b =43, 4 (a+b)2-ab
frefafas & o TR e g1

(A) 52 (B) 38

(C)32 (Dy42

Ifa+a’*+a*—1=0, then what is the value of a°
1
-[2)
a
. 1 ;
Afga+al+a’—1=0%F, dqa*+ [;]mmw%’?

(A) 1 (B) 4
(C) 2 (D) 3

17.

18.

19,

20,

If a* + 3a* + 9a = 1, then what is the value of a®

T

¥fc a® + 3a2+9a= 1%, d a® + (;]Eﬂﬂﬁw%?

{A) 31 (B) 26
(C) 28 (D) 24

1 1 —
Ifx=a+ — andy=a- —then /x" +y' - 2x"y’

a a
is equal to:

1 1 ...
Hex=a+ N FRy=a- a g m
A &
) 8

(A) 16a* (B) 8 (C) o (D) 4

If x =3 +./2 and xy = 1 then find the value

(x+1)4+(y+1) -2 x+1) (y+1)2
Of(x+1)4+(y+1) +2(x+1) (y+1)2'

I x =342 Bﬁixy=1%?ﬁ

(x+1) +(y+1) —2(x+1) y+1)

(x+ 1) +(y+1) +2(x+ 17 (y+1F T E
L & 7
a) % ®) %
© o Vs
Ifa=1lll+§ and b:”'l—g then find the
a:%_,’_b-",
value of b
Tfe a = 1+§ b=, 1—£%’Eﬁ & +E E7)
a1 foFas WK & ?
343 33
W B =75
(€3 D) V3
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L 2
If Xx=2-27+27 then find the value of x* —

21. If2x=a+ and 2y =a - |—F : .
3a 3a 6x° + 18x + 181s:
then find the value of x* + y*. — Lok 9% £ 632 + 18x + 18 1
A dx = at 4bﬂ—a S 2y = am 4bﬂ—a , A T i
W aa (A] 22
WX+ y FAAE? (B) 33
(A) a® (B) b* (C) 40
(€) a D) b (D) 45
22. Ifx= /5 + 2 then find the value of x* — 6x* + 25. Ifa= 32 + 43 + 1, then the value of
12x + 15. )
AT x = 45 +2 T ox*-6%x2+ 12x + 15 HAA [(a—ljs—ST is -
f\ ha? %\:? (a_IJJ
(A) 28 (B) 2 5
-1)*-5
(C) -2 (D) 40 I %Jr%ﬂéﬁr[(a(alw] -
23. The value of (0.98)* +{0.02)* +0.98 x0.06-1 .
(0.98)* + (0.02)* + 0.98 x 0.06 - | HFAFE- A I
(C) 1.09 (D) 1.98 (C) 165 (D) 162
---------------------(: ANSWER KEY :]
1. A 2. (A 3. (B) 4. (A) 5. (A 16. (C) 17. (C) 18. (D) 19. (B) 20. (A)
6. (B 7. (A) 8. (A) 9. (A) 10. (C) 21. B) 22. (A) 23. (A) 24.(C) 25. (D)
11. (D) 12. (B) 13. (B) 14. (A 15. (A
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Algebra (SSC Pre+MAINS-2023)

R —

Exercise [ 3+ Y21
3 . 4, Ifx'+x*+x*+x+ 1 =0 then what is the value
Some special condition y - - -
of X755 + x5 4+ x5 4 x5,
3. No.| Condition Result A+ +x2+x+ 1= 0% d x5 4 x359 4 x57 +
1 1 . X° Tl A J1d I |
1. X+—=+3 |x*+—=0 x"=-1
X V3 x* (A) 4 (B) O
and x°+1=0 (€)1 (D) -4
2 x+—=1 x%= -1 1
X 5. Ifx+ <" J/3 then find the value of
1
3 X + ; =-1 x*=1 SIEOUC | 180 180
1 Xlti
4 X+ —=2 x=1
X N 1 . L0000 + L0 + 140
! "EI‘fT:fX+—=\/§%'ﬁTX Xla X mran
=_ X X
5 X4—=-2 x=-1
X N HITA |
(A) 3 (B)-3
1
1. If x + < = /3. then find the value of x''° + (€)1 (D) -1
1 1
IR 6. Ifx+ - = 2 and x is real, then the value of x''7
. 1 B - 1 X
‘Q‘Fq'x+;=_\/§%*a1x"°+xm FIHAE | , L
(&) 1 (B)-1 X
(€) 2 (D) J3

1 . R N
afg x + < = 2 & oY uw Irafasw W § 9 x4+

1
2. Ifx + < = \/E then find the value of x*'% + x'#

+ x5 192 96 4 B g B % aﬂ"l:n:[%’_
e x + l= \/E T AT k216 + R0 4 x150 4 182 4 596 4 (A) 1 (B)O
X (C) 2 (D) -2
x5+ X3 FHFE |
(A) 5 (B) 4 a b
)3 (D)0 7. Ifg +;=1,a;éO,b;éOthenthevalueofa3+
1 e
3 If— + = = then find the value of x* - b is:
X 2 X+ 2 b
8x™ +x% + 3. aﬁ%+—=1,a¢0,bi0%ﬁa3+b3¢fﬂﬁﬂﬁ
ﬂﬁl+l= ! FAX®-8x* + X+ 3HAFE | | .
x 2 x+2 )
(A) 13 (B) 8 (A) O (B) 1
(€) 11 (D) 12 (€) -1 (D)2
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10.

11.

12,

Mother's T=aiq » dispiftra

]_ 2
If (X + ;) = 3 then the value of x*™ + x*™ + x™

+XOD+X54+XQ4+XO+1:

2
1 , , . .

g | X+ —| = 3%,T‘ﬁxzob+X~’”0+X"*’+Xb°+x:'4+
X

X2 + x5 + 1 I HE JE H )
(A) O
(C) 84

(B) 1
(D) None

1 1
Ifa+; = /3. then the value of a° — — + 2
a
will be :

oras = [3RA a0 +2FATET
(41 (B) 2
(©) 343 (D) 5

1 1
Ifxisreal x+ < #0 and x* + < = (0 then the
1 -
value of (XJF—] is:
. . 1 1
7y x T ATl T Y SR x + L Ao

XJ

=o¥ar {:Hé] 1 5 -

(A) 4 (B) 9
(C) 16 (D) 25
1 1 1 ) o
If — + — = —— then the value of a* — b* is :
a b a+h
1 1 1 . - -
afs — + — = ¥, T a® — b® =1 0 Fd HifA 7
a b a+hb
(A) O (B)-1
(€)1 (D) 2

1
Ifx— - = 1, then what is the value of

(1_1+1_1]
x-1 x+1 x*+1 =x%*-1

1 1 1 1
aﬁx—l=1%’,ﬁT[ - + - ]

x x-1 x+1 x*+1 =x%*-1

T A TG -
2 2 J5
(A4) 5 B) 5 (€) if (D) £~

13.

14.

15.

16.

17.

18.

4
[fa*+4a®+ 16a+ 1 =0 then find a* - " =7

4
aﬁa3+4a2+16a+1=0%,ﬁa3—gwmﬂw

ENTT ?
(A) 60 (B) 61
(C) 62 (D) 63

Ifa+a*+a*+a'-2 =0 then find the value of

2
at+ —,
a

N . - 2
AEa+at+a*+a'-2=0 %’,ﬂTa"+;3H‘E|FrS|'IH

T |
(A) O (B) 1
(C) 2 (D) 3

fa*+a*+a'+a*+a>+a+1=0then a* + a'*
=7
Fcat+a’+at+tal+at+a+ 1=03%, dal+a
=1 A frAfafad | 9 g aeas g 7

(A) O (B) 1

(€) 2 (D)3

[fx% - J6x— 1 =0 then find the value of x* -
61x°*-62x2=7?
T x? - Jox - 1=0Fd x" - 61x° - 62x* F AN

T -
() O (B)-8
(€)3 (D) -4

1
Ifx+ — =1, then x* + x** + x*' + x*® + x™ + x*
X
+X'f3+X'J=?
aﬁ{x*‘—=1EBI,HTXM'FX*’:'+X31+X18+XU+XE’
X
+ X0+ X FIHAA FNEM?

(A) O
(€)1

(B) 2
(D) 5
1 . ot 4 o b b s
[fx + — = 1, then x*" + x29% 4 x200 4 x102 4 xd1 4
X
XQ] +X18+X15+XE@+ 5 =?
]. o B _ _ _ _
ITEx+ — =1 g, Tl X700 4 205 4 200 4 5102 4 5l 4
X

x21 + x38 + x15 + x? + 5 O HH 41 8 ?
(A) 2 (B) 5
(C) 4 (D)0
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Mother's Advance + Algebra

1 . 1
19. Ifx+ < 1, then X' + < =7 22, Ifxi+ L =1, then x¥ + x¥ + x™ + x"¥ + x'2 + 3 {5 ;
Xz
1 N .
1 1 : 2+ — = ST xF B x2+3
qﬁ;x+;=1,%‘f?ﬁx'~‘=+ﬁmm%? e x? 18 o200 00 x i
X
(A) 2 (B) 5 T I |
C) 4 (D) O (A0
20. Ifa?-a+1=0,thena™+ =7 (B)4
’ ’ v (O)1
i 1 (D)2
ﬂﬁaﬁ—a+1=0ﬁ,ma“?+a7wnﬁw%? .
1
e = ; oM
(A) 2 (B) 5 23, Ifx+ < 2 then find (x - 2)'' + (.X—Q)“ .
(€)1 (D)0 4
1
21. Ifx+;=—1’rhl&‘.n7115'“”—7115’-‘er‘”*+x"”‘*‘+71125—x22 ?Ti:q'x+l=2% A (x - 21 + 1 — o T T4
X ” -2
+X18+X15_X12+X6_X3+1=? (X )
T |
-qﬁ:x_,_ l - _ 1%,T‘TTX"—"“—X‘_’O+X48+X"‘O+X35—X22
X (A)-2
+ x84+ x5 x'2 4+ X5 — x*+ 1 % HF T HC | (B) 1
(4) 2 (B) 4 (@0
(€)1 (D)0 (D)2
e (s ANSWER KEY :)
1. O 2. (A 3 (C 4D 5 (4 16. (B) 17. (A) 18. (C) 19. (D) 20. (C)
6. (C) 7.4 8. (A) 9, (B) 10. (B) 21. (B) 22. (B) 23. (A)
11. (A) 12. (C) 13. (D) 14. (D) 15. (A)
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Algebra

(SSC Pre+MAINS-2023)

]
e
Exercise / 3H Yo

2 bZ )
Ifa+ b+ c=0then the value ofa—+—+ <

bc ca ab
is:
2 2 2
ﬂﬁa+b+c=0%ﬁra—+b—+c—ﬁmﬂﬁaﬁaﬁl
bc ca ab
() O (B) 3
(€)1 (D)1

Ifa+b+c=9andab+ hc +ca 18, then the
value of a® + b* + ¢ - 3abc is:
Tea+b+c=93dTab+bc+ca= 18 %, dra*+b>
+ ¢ - 3abc W T @ SIAT |

(A) 243 (B) 244

(C) 234 (D) 254
I[fab+bctca=8anda+b+c=12, then (a®+
b? + ¢ is equal to—

Tz ab+bhc+ca=83dRa+h+c=12% 0 (a*+b?
+ ©2) =1 HF A1 T ?

(A) 160 (B) 144

(C) 134 (D) 128

I[fatb-c=7,ab-bc-ca=2l, thena®+b*-
¢+ 3abc=_........
aifa+b-c¢=7,ab-bc-ca=218Fda’+ bt -c

+ 3abec=......... 2
(A) 124 (B) 117
(C)-98 (D) 98

Ifa+b+c=6a®+b*+ - 3abc=2342, then what is
the value of ab+bc+ca?
IGa+tb+c=6a°+b’+c?-3abc=342 %, dl ab +
be + ca %1 | I FHIfaC |

(A)8 (B)-7

-5 (D)5
fx+y+z=6,xyvz=-10 and x* + y? + 2% = 30,
then what is the value of (x* + 7 + 2%) ?

AR x+y+2=6,xyz=-10TMx2+y> +22=30%,
T (x* + y¢ + z°) % AH T B2

(A) 132 (B) 135

(C) 130 (Dy 127

ln]

If (1 -p° )(1 - qz) = £, then what is the value

7. 5
of -\/21)2 +2q° + 2pqg + -\/21)2 +2g° - 2pq
. 3T 3
afg JI=p)(1-%) =% g, i
§2p° +2q° + 2pq +4j2p° + 2% = 2pg FIHAN FE ?
(A) 2 (B) V2
C) 1 (D) None of these
X+y i
8. It = 2, then what is the value of
hi z
+ 2
{(Y—Z)} LX—ZJ '
L Xty s Yy |4 z }
B —2%’,?11{(5(_3)} {(X_Z) T HH 1
€2
(A) O (B) 1
(C) 2 (D) -1
a‘.?
9. Ifa*+1= o) (4b? = b* = 1), then what is the
value of 2" + b'?
a® .
Agat+ 1= L (4b? =Dt - 1) %, 9l a* + b* S HH
g7
(A) 2 (B) 16
(C) 32 (D) 64
10. 1f f(a® +b? +ab)+ fa® +b’—ab) = 1, then

what is the value of (1 - a%) (1 — b9?
7fg J(a“) +132+ab)+\/212+132 —ab) =18,
—ad) (1-b) FAA FNE?

1 4 5
A 5 B  (©

(D)

| 2
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11.

12,

13.

14.

15.

16.

17.

18.

Mother's Advance + Algebra

If x + v = 3, then what is the value of X* + y* +
Oxy? ;

A x+y =38, WX+ 3 + Oxy FEAFNE?

(A) 15 (B) 81 €27 (D)9
(2a-b - 3c)(4a? + b? + 9¢* + 2ab + 6ac - 3bc) =
?

(A) 8a®+ b+ 27¢®

(B) —-8a* + b* + 27¢°

(C) 8a* — h* - 27¢* — 18abe

(D) 8a* - b* —27c¢* + 18abc

Ifaz+ b2+ c¢%=576,ab+bc+ca=50, thena+
b+c=7?

G a2+ b2+ ¢2=576,ab+bc+ca=50,da+b
+c=7
(A) £24
(C)-24

(B) £26
(D) -26

Ifx-y—-2z=0, then the value of (x> + ¥* + 2% =
(¥*+xz)=7?

AR X -~y -2z= 0T (X2 +y2 + 24) + (y* + xz) = ?
(A) -1 (B) 1

(€)2 (D) -2

If 3x -2y + 3 =0, then the value of 27x* - 54x%y
- 8y* + 36y*x =7

7fe 3x - 2y + 3 = 0 @ 27x* — 54x2y - 8y® + 36yx
=7

(A) 57
(Cy-27

(B)-57

(D) 3
Ifx+y+z=10,x*+y*+ z* - 3xyz = 250, then
the value of (xy + yz + zx) = ?

A x +y +z= 10, x* + y* + z* — 3xyz = 250 W (xy
+yz+zx)=7?

(A) 25 (B) 10
(S (D) 15

i1 13 o .
If al +be 4 o3 0, then (a+ b+ ¢)° is equal to:

! 1 1 N

A 5 pa 4oz = O W (a+ b+ o) e wom
g7
(A) 81 abe (B) 729a*h*c?
(C) 729 abc (D) 81 a?b4c?
Ifa+b-c=12anda*+ b2+ ¢ =110, then

Afga+b-c=123Ra>+b2+c?= 110%, @
(p)ab+bc+ca=34
(g ab+bc-ca=17
(r) ab—-bhec +ca=17
(s) ab—bec-ca=17

19.

20.

21.

22.

23.

24,

which among the following relations is true?

FfAfEa o o S MET qE 8 ?
(A) T (B) q
(€ p (D) s

/T (a+b+4)ab+4{a+b)}-4ab=0

and/dMa=-4,bz-4,

1 —234
then/%, I, {m‘g } is equal to/
TR e— '
1 1
(AA) 417 (B) o117
(C) - 0231 (D)o

Ifa+ b+ ¢ =0, then what is the value of
) 2 )
{a+b) +(b+c) Jr(c+a) 3

ab be ca
Amat+tb+c=0% (a+b] +(_b+c)‘ + (e +a)2
’ ab bc ca
Rl HF 9 &G 7
{A) 1 (B)-3
(C) -1 D)3

fx+y+z=2 x*+y*+z"-3xyz="74, then (x*
+ ¥? +27) is equal to: .
Tex+y+z=2,x*+y*+ 2" - 3xyz =74 %, T (x*
+ y? +2°) & HA T &0 7

(A) 24 (B) 26

(C) 29 (Dy 22

[f2x + 3y + 1 = 0, then what is the value of (8x*
+ 8 + 27y — 18xy)? X

ARG 2x + 3y + 1 = 0 F, W (8x* + 8 + 27y* — 18xy) H
EILE L AT
(A) =7

(€) -9

Ifx+y+7=3and x*+ y*+ > =101, then what is the

value of JX3 +y' +2° - 3xyz?
A x +y + 2w =3 AT+ y2+ 2 =101, %, @

JX3 +y° +2° — 3xyz AR FE ?
(A)19 (B) 21
()24 (D)28

Find ;he product of (a + b+ 2c) (a* + b* + 4c* - ab - 2bc
- 2ca

(a+b+20) (a*+b*+4c* - ab - 2bc - 2ca) =T O 9149
L |

(A)a>+b® + 87 - abe

(B) a® + b® + 87 - fabc

(Cya*+ b + 8¢ - 2abhc

(D) a* + b* + 6¢° — Gabc

Study Center : Jaipur « Gopalpura = Lalkothi « Jhohwara

« Ambabari » Alwar

» Udaipur



25.

27.

28.

29,

Mother's T=aiq » dispiftra

[fab+be+ca=8anda*+b* +c2=20, thena
1
possible value of §(a+ b+ ¢J[ia-b)2+ (b-c)?+
(c —a)?] is:
: 1
FE ab + he+ca=8 3dRaz+ b2+ c2=20 %, 5@

+ b+ ¢)[(a-b)> + (b - ¢)? + (c — a)?] T TFH F9F AA

(A) 72

(B) 56
(C) 84 (D) 80
7 L B R hat is th
l-a 1-b 1-c than what 1s e
4 . 1 . 1 . 1
vaue ol v T 1-p 1-¢
a F) c
: + + =2 i
afe l-a 1-% 1l-¢ ar
11, T | T 2T ?
l-a 1-b 1-c¢ ' ’
(A) O (B) 5
(C) -5 (D)1

If x+ v =4, then what is the value of

x 2,
x—2 y—2°
. x
+y=4,8 9 + ?
afax+y=4,% ~ 5 y2 =1 A 1B
(A)-1 (B) 1
(C) 4 (D) 16

If{p+2)(2q-1)=2pq-10and (p-2) (2q-1) =
2pq — 10 then what is pq equal to ?

SR (p+2) (24~ 1) = 2pg- 10 3 (p=2) (29~ 1)
= 2pg— 10 @ pq s & ?

(aA) -10 (By-5

(C) 5 (D) 10

If ab + bc + ca = O then the value of
{(b? —ca) (¢* - ab) + (a® - be)(c? —ahb) +
(a'“’ - bc) X (b2 — ca) ‘
(a* —be)(b* — ca)(c* —ab) '™
g ab+ be+ca= 0%, (b2 -ca) (¢ - ab) + (a2 —
(a2 - bc] x (b2 - ca]
bej(e® - ab) + (a3 - bt:.)(b2 - t:.a)(c2 - ab) Al AN

FNE 7
(A) -1 (B)O
(C) 1 (D) 2

30.

31.

32.

33.

2s then the wvalue of

(s—a)?+(s-b)*+(s—c)*+s? -

If a+ b+ ¢ =

a’+b?+¢?
gfea+b+c=2sed

(s—a)?+(s-b)*+(s—c)*+s?

a’+b?+¢?
(A) @ + b + ¢
(€)1

1 A Td HL

(B)O

(D)2
[fatbtc=2andab+bc+ca=-1, then
the value of ([a+ b)* + (b + ¢)* + [c+ a)* is:

A a+b+c=23Rab+be +ca=—1%,1 (a+ b)?
+ (b + )2 + (c + &) T U 1@ ST |

(A) & (B) 10

(C) 15 (D) 25

If a, b and ¢ three zero real number and a+ h +

az+h?+c?
c =0 and b? #ac, then T e

aft a, b, ¢ @H FAT aEdlaw SH e siRa+b+c=0
at+h2+c?

b2 zacE, @1 T

is equal to—

T 9 I Fife ?

(A) 3
(C) 0

(B) 2
(D) 1

Ifa+ b+ c=0, then find the value of

1 1 1
{a+b)(b+c) * (c+a){a+b) + (b+c)(c+a)

3 S 1 1
.‘qﬁa+b+c=0%‘€ﬁ (a+b)(b+C) + (C+a)(a+b)

1

throycra) ©

(A) 1 (B) O

(€ -1 (D) -2

If a +b + ¢ =0 then whal is Lhe value of
az+h?+c?

(a-b)*+(b—c)*+(c-a)* *

. az+h?+c?
AFa+b+c=0%, @ (a—b)i+(b—c)2+(c-a)?
T T A9 FITAC |
(A1 B)3
© % (D)0
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35.

36.

37.

38.

Mother's Advance + Algebra

If a, b, cis zero real number and a+ b+ ¢ =0,
a?+bhc=5&b*+ac=c®+ab=-1then find the
Sa-b-c¢
abe
afE a, b, ¢ Y@ TGOS SiF & Fa+b+c=0, a?
+bhe=5dM b2 +ac=c2+ab=-1%
Sa-b-c¢
abc
(A) 6
(€)3

value of

T H BN 2

(B) 1
(D)2

a, b, cisreal number. lf x=a +2b-3c2 0,y
=3a-b-2c+0,z=5c—-4a- b, then find the
X2+y2—32

Xy
a, b, c A AR FECE T TR x =a + 2b- 3¢
20, y=3a-b-2c20,z=5—-4a-bed

value of

X2+ y2—z2
Xy

(A) 1 (B) -2

()3 (D) 2

If Ja + b + Jc =0, then what is the value

FHF L ?

a+hb-c)?
(:;1“7(a C) ?

ab

. d o +b-—rc)?

qﬁﬁ+.£+(=0%’,m%wm
a
FE?
(A) 2 (B)O
(C) 4 D)8
) (b+c)
Ifa+b+c¢=0, then what is the value of - '
[b2+c2_a2)+ (C+a) [C2+a2_b2]+ (a+b) [a2+
ca ab

b?-c?is:

. . o (b+c)
I a+b+c=0% @ b (b* + ¢ — a%) +

C

(c+a) . {a+h)
;[CQ.'_aQ_bz)_i_ -7[a2+b2_(:2]aﬂ']:n:|’

ca ab
FE?
(A)O (B) 1
(€) 2 D3

39.

40.

41.

42,

43.

Ifa+ b+ ¢ =0, then what is the value of

a® h? c?

+ + ?
2a“ + be 2b% +ca 2c? + ab

N . - a2 b?
Fatb+c=0%q 2a%+ be * 2h* +ca -
c? ;
(A) 1 (B) 2 (€)3 (D) 4

If pg + qr + rp = O, then what is the value of
pQ qQ r2
4 t e t -

p'-qr qQ'-rp r"-pq

. . P q’
IE pg + qr +rp = 0 F, @ pi-qr hr-mp
r2
> A A E 7
r?-pq
(A) 10 (B) 1 € -1 (D)3

Ifa+ b+ c= 8 then the value of (a - 4)* + (b -
3 +[e—1)% - 3a—4)(b-3)(c—1)is:

AR a+b+c=8% @ (a-4)+(b-3)+(c-1)*-
3(a - 4)(b - 3)(c - 1) &1 A F14 HIFTC |

(A) 2 (B) 4

(C) 1 (D)0

L L 1
X +yi=zt XTy—z+27xyz=7

I
(A) O (B) 1
(C) -1 (D) 27

Ifx+y+z=285, then What is the relation with
(S-XP+(8-Y)+3{(5-X)(S-Y)Z.

AR x+y+z=28, WS -XP+ (S-Y)*+3(S -
X)(S - Y)Z & == 1 S B 7

(A) 2° (B) —=*

(C) x* (D) y*

[f a + b+ c=4then what is the value of a> + b* + ¢* -
12¢2 + 48¢ - 64.

g a+b+c=4% Wad+ b+ - 12c2 + 48¢ - 64 7
A I I
(A)3abc

(C) 3abc + 12ab

(B) 3abc - 12ab
(D) abc +12ab

Study Center : Jaipur « Gopalpura = Lalkothi « Jhohwara
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43.

47.

18,

49,

Mother's T=aiq » dispiftra

c
Ifl—a + 5 + 1_C—O,thenﬁr1dthevalue
1 1 1
of 2 "1-b 1-c
a C N 1 1
+ =
L Ty e 0T L YTy
1
t T g =1 A A E ?
(A) 1 (B) 2
(C) 3 (D)
a’-bc b®-ca c¢?2-cb .
It a*+bc ¥ b*+ca ¥ c*+ch 1 then what is
aQ b2 CQ
the value of a%+ be * b+ ac * c24+ab’
a*-he b*-ca c¢?-ch a*
a’+bc b2+ca C2+Cb—1%?ﬁ a?+bc
b2 c?
7 7 7
b*+ ac - c2+ab_ﬂmwm'
(AA) 2 (B) -1
(C) 3 (D) O
b
If a + + < - 1 then what is the
b+c a+ec a+b
a® h o
: + .
valueofb+c a+c a+b
a N b c S a* N h*
b+c a+c a+b 7 hb+c a+c
2
+ —— FHHAFNE?
+ b
(A) O (B) 1
(C) 2 (D)3

Ifp*-q® = (p-q)ilp+ q)* - xpq} then what is the
value of x for p#q:

T pt - = (p-ailp + @)* - xpg} T, Wp#q F fog
X A &~

(A) 1 (B) 2
(€) 3 (D) 4

4h* - a* 4h* - a*
If2x=a+ ,— and 2y = a— . 32

then what is the value of x* + y&.

50.

51.

52,

53.

54,

: A -a® b —ar
T 2x=a+ . i M2y = a- ™ 7,

T x* + y* T HE 57 FR 7
(A) a* (B) b*

If x= i/a +daz+ bt + -"{/a —Ja?+ b, then what
is the value of x* + 3bx.

I x=Ya+Ja?+b° +Ya-Jai+ b AR+
Sbx ®1HH &-
(A)O

(C) a (D) b

(B) a (C) 2a (D) 1

[fx=b+c-2a,y=c+a-2b,z=a+b-2cthen
the value of x* + y* — z* + 2xy.

AR x=b+c—2a y=c+a-2b,z=a+b-2c¥,
Al X2 + y? - 22 + 2xy % °A 714 Hifod |

(A) O (Ba+b+c
(CJa-b+c (D)a+b—c
x-a? | x-bB o ox-c s
b? +e? c?+a? a2+ h? 2k
bl Sl . Sl N S,
b2 t+ec  ct+a?  ai+b? x
%_
(A)az+b*+c? (B) a% — b2 + ¢2
(C) a* - b* - ¢* (D) —(a? + b* + ¢?)
+ +b +
f 22y 2T L 2T 1 3 - 0, then find the
b+c c+a a+h
value of 'x'.
Xx+a x+bh xX+e
+3=0, 9 'x' & HAA T
b+c c¢+a a+b
ghm?
(A Ha+b+cd  (B)a+tb+q)
(C)-a-b-c (D) None of these
x%?-2a? x?*-2b° X2 -2¢?
+ -+ =
If b 1o o 1 g b2 6, then find
the value of 'x'.
x*-2a% x*-2b* = x*-2c* =6, 9 'x #
b?+¢? c24a? a+b? » X
O =41 BT ¢

(A) y2(a*+b2+c?) (B) J(a%+ b2+ c?)

(C) J2(a®>-b?-c?) (D) None of these

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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Mother's Advance + Algebra

x-a* x-b* x-c b-¢ a+c a-b
55. If bro +c+a +a+b—4(a+b+c],then 58. If " + 5 + c =landa-b+cz0
X=7? then which one is true?
. x—-a* x-b* x-¢& - b- + —h
i b+c c+a * a+h =4at+btcpEm afg ac abc+ac =l1&a-b+c20 &
X T HE FEM 7 g = A A i w2
(A)1 (B) 2
1 1 1 1
C) 3 D) 4 LR L
© (D) (A]bac [B)ca
56. If pqr = 1 then find the value of —— + 2_ 1.1 L1
. par = 1 then fin e value o liptq. (C]E_g . [D]g—ngz
L — 4 1 . 59. If /x + .y *+ Jz =0 then find the value of
l+q+r l+r+p
. . (:X+y—z)2
afe par = 1 ¥ l+p+q’ T 1+q+rt n
. x+y-2z)
1 . =g + + =0 %, (x+y=2] Ak IE]
Ter‘L =1 |1 18R/ Vx ‘/; vz Xy
T E ?
&1 (B) 0 (4) 4 (B) 5 ©6 (D)8
<2 (D) None of these
3-5x 3-5y 3-5z
2 60, If + 3 + ——— = 0 then find the
57. Ifa+b+c=0thenﬁndthevalueofaz_bc + 2x y 2z
2 2 2
b2 c? valueof — + 7 + — =7
+ . X ¥y Z
b2 -ca c?—ab
. 3-5x 3-5y 3-5z .2 2
2 o 2 _— = = —
Aot Brc= 0% Ia . .b c e o + oy + o Oﬁ,mx+y+
a’-bc b?-ca c*-ab
T A M 2 2 R e
(A) 2 (B) 3 z
(C) 4 (D) D (A) 5 (B) 10 (C) 15 (D) 20
---------------------( ANSWER KEY ]
1. (B) 2. 4 3. (D) 4, (C) 5. B 31. (B) 32. (B) 33. (B) 34.(C) 35. (4
6. (A) 7.(B) 8. (B) 9.(4 10. (D) 36. (B) 37. (C) 38. (A) 39.(A) 40. (B)
11. (©) 12. (C) 13. (B) 14. (C) 15. () 41. (D) 42. (A) 43. (A) 44. (B) 45. (O
16. (A) 17. B) 18. (D) 19. (D) 20. (D 46. (A) 47. (A) 48. (A) 49.(B) 50. (O
21. (B) 22. B) 23. (B) 24.(B) 25. (4 51. (A) 52. (A) 53. (A) 54.(A) 55. (4
26. (B) 27. (B) 28. (C) 29.(B) 30. (B) 56. (A) 57. (A) 58. (D) 59.(A) 60. (B)
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Algebra (SSC Pre+MAINS-2023)

]
Type-VI
Exercise / 3H Yo
. Ja 4.6 242
(\/ 4m+\/_)+( ) J5 4, Forx=\/—7\/_\/—,whatisthevalueofX+ J\/:+
1. If (J\/4— Jﬂ_ (\/ = '~ then Y2+ 3 X — 22
am - J3n - A x+2V3
2037
find the value of —. xR
n 4./6 i fom X+2\/_ X+ 23
(\/\/E‘i‘\/_)-i—( ) \/5+\,/_ X- QJ_ X —2:/3 AT
T ([ Jam v - P e €7
(Wam « JBn ) (JJam - VBn) © 1 (&) 1 B2 (€ (D)2
2 1w o € 4-Jab
n 5. If Xzﬁthen what is the value of
NE B ©% O |
WF B2 © 7% O3F xe2E xe2fb
1 1 Xzfngwenai]
[XJF;)JF(X_;] 3 af x 4+/ab & x+2\/_ x+2~./_
2. If[ 1) [ 1] = —then find the value of ~Ja+ b x-24a  x-2db
X+ |- x- 2
X X 1B
1 fa
24—, - a+-\/5
Tl (4)0 (B) 2 ©4 O 4
[X+_]+(X_l) Dalb
X X 3 1 _ a -
aﬁ[XJrl]_(X_l):E%?ﬁxthquw 6. If x—b2+1,b>1f1nd the value
%‘T'l'l'[l X X Na+ X —a—xX
13 X Ja+x+a-x
(A) — (B) — ) = (D) None A% - Ja—x
6 o x = 2 po 1t e VETE pam e
b2+1’ at+tx+va—-x
X O A
3. If “715{ = %then find the value of x* — e
T Wy B ©, Ob
! | 70 e IS fing X2 X420
x*+37 341 g 5+3 <12 w20
aﬁrx_’_'l W X ;WWWWl e x \/— T_hx"‘\/_ X+\/_ S
= T x-v12 x-v20
120 122 36 L
A~ @37 (€) 55 (D) None (A) -2 (B) 2
(€) 3 (D) -3
ﬂ HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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ln]

2nab

8. Ifx:g then find the value of /1 x . 13. If X=a+bthen find the value of
X+na x+mnb
. 3
qﬁng%?ﬁ V1+x ?m'—ltlFIEPﬂ_EﬁT"I X—na—‘rx—nb‘
N 2nab . . X+na x+nb
_ = + .
A J§2+1 B) \/52 1 g x N %’a‘rx_na < b T HA T EAT |
(A) 2 (B) -2
-3 - e )3 D) -3
© J3-1 D) J3+1 (C) (D)
2 2 Sab
14. If X=mthen find the wvalue of
0. Ifx:ﬁ hen find V1+x-vV1-x. 5 5.
2 X+9a X+ 2b
S B =
57 S5
. 3 4. -2 -5 b
’JﬁXZg%Tﬂ-Jl+X—-J1—x B H S ®Toef *T o
57 5.
@1 (/-1 ©2 (D)2 i o 530 5 X7 R X 5 b N
3 " a+hb x—?Qa X - 5 5P
10. Ifx—7 then find the value of i
(A) 2 (B) -2
1+ x 1-x
)3 D)4
1+Vl+x 1-4l1-x° ©) (D)
NB+X+45-X
e x— J§ 5 L+x 1-x — 15. f\/5 75 = 3then what is the value of
o I+lrx 1-Vl-x TX - VO
BT =
WO+ X +4/B-x
) 5 5-
1 =3 ¥ 9 x FTHE I
(A) 1 (B) -1 @5 M2 * Bix -5 x
) 25
Al — B) —
;A A B
11. 1If Xz? then find the wvalue of (C) 4 (D) 3
Sl B L 16. 1f P 12 g en what are th
1+\/1+X —dx . I px\lrqx en what are the non-zero
. . Aix J-x solutions of x ?
“ﬁ'ng%’“lﬂn”*l Jix 1+px [1-gx
' SN =1%, @ x F IANTA TG ?
Bl qﬁl—px 1+gx Kb ' '
2 J2 2 2 1 2p—q
il N2 el 1
(A) 73 B) 3 © 3z O (a) £ 2p#q
/ 1 1
12, 1f x= 2909 hen fing XS (B) +_VP-a.p#q
7 rx--x J— p
Tox+vI-x Iy —
ﬂﬁx=—2‘/ﬁ% yltx+vlox wnﬁw@’nl (€) 2 L opzq
NI+ x =41 q
5 2 1 4 +P 5o g0
i =z - =L (D) T p—q,2p+q
W B Oy, Dy a
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17. 1f Xrvx -l + 27 vx -1 =62 then what is
x-Vx*-1 x++x*-1
the wvalue of x.
2 2
afg EVE 21 XNX 21 oo dxmamn
x-yx?-1 x+x*-1
Z
(A) -4 (B) 0
(C) 3 (D) 16
---------------------(: ANSWER KEY :]
1 B) 2. (A) 3. (A) 4. (D) 5. (B) 11. (A) 12. (A) 13. (A) 14.(A) 15. (D)
6. (A) 7. (B 8 (A 9. (A) 10. (A) 16. (A) 17. (A)
H HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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Algebra

(SSC Pre+MAINS-2023)

[ TypeI-VII

Exercise / 3H Yo ]

How many quardic equations have the sum of
their roots equal to the product of their roots?

ferae fgema Wil « 39k e =1 AW, 39 gel &

TOFTES % A B E 2
(A)0 (B) 1
<2 (D) Infinitely many

If g and [ are the roots of the quardic equation
x? + ux + p = 0, where [ # 0 then what is the
value of oo — fi.

g o 3R B g TR x2 + ax + = 0 FHAE 2R
ST, B = O 1 o — B <1 T 1§17

(A) 4 (B) 3

(€) -1 (D) =3

If the sum of the roots of the equation x* — K*x
+ 30Kx - 161x — 64 = 0 is zero, then what is
the difference of the roots?

afg FHFT %2 - K2x + 30Kx - 161x — 64 = 0 F T
1AM I € 37 qel W AR T 7

(A4) 15 (B) 16

(C)y 17 (D) 18

What is the condition that the roots of the
equation ax? + bx + ¢ = 0 are the ratio C ; 1.
9% 1 Hidee & fF Tiidm ax? + bx + ¢ = 0F A C
: 1% IR HE

(A) b%2=alc+ 1)?

(B) a* = blc + 1)

(C) b2 =alc-1)?
(D) abk® ={c+ 1)*
Solve for all real numbers x for which
(x4-7x+10)7 " " =1

Find the number of possible value of x.

6.

10.

If o and [ are the two zeros of the polynomial
256x?* - 16x + 2, then what is a quadratic poly-

nomial whose zeros are (2¢) 'and (2f3) ' ?
7IfE TETT 26%2 — 16x + 2 % TEIE & T9F o S P ¥,
it % foei g 77 1 foreieh T (201) ! 9 (25)

g7
(A) x® + 30x + 2 (B) 8x2 - 30x + 25
(C) 8x2 - 30x (D) x* + 30x

What is the value of ot # Q) for which x* - 5x +
o and x* — 7x+ 2¢ have a common factor ?
ox(ox # 0) 1 9 A N E, Forek o x2 - 5x + o 3t x2
- 7x+ 20 1 U U6 [UHETE Bl ?
(A) 6 (B) 4
(C) 3 (D) 2
What is the positive value of m for which the
roots of the equation 12x* + mx + 5 = 0 are the
the ratio 3 : 27
m T TE FF 9 A E, Torer fem weem 12x2 +
mx+5=0%FFA3: 2F T[TAHE ?
S0, 512

12 12 6
Ifonerootof (a?2-5a+3)x*+{3a-1)x+2=0is
twice the other, then what is the value of'a' ?

(A) 5y10  (B)

= THRT (2% — Sa + 3)x* + (3a— 1) x+ 2= O
T H T G B QT E O ‘e’ A HE 2

2 2 1 1
(A) 3 (B) 3 ©) 3 (D) —3

[fx and P are the roots of the equation ax® + bx
1 1

—

ao+b af+b

A o P I ax® +bx +c=0 F AT d
1 1

+ ¢ = 0 then the value of is.

x%—7x+11) " = 1 = x % 9t St A % + T 7
(x X:r ) X ) o agx+bh aPf+b R
o gt =ifoTe 31K 9= T ff x & fhen a@ S € 2
a b C 1
(A) 4 (B) 6 (A) T2 B) = ©) & D o
(€) 5 (D)3 ,
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11. I[foand P are the roots of the equation ax® + bx 16. Aroot of equation ax* + bx + ¢ = 0 (where a, b
+ ¢ = 0 then what is the value of the expres- and c are rational numbers) is 5 + 3./3 . What
sion (o + 1) (B+1)? is the value of (a2 + b2 + ¢3) /(a + b + ¢)?

e o i B T ax? + bx + ¢ = 0 F el &, 7 FASE THFT ax? + bx + ¢ = 0 (Il a, b 720 ¢ IfHT e §)
(0+1) B+ 1) FAAFNE? FFAE + 3.3 %1 (a2 + b2+ %) /(a+ b+ c) FETFN
a+b+c b+c—a ®7
E— (B) ——
a a 35 37 -105 -105
a-btc at+b-c W3 B35 @ )73
(€) — — D) ——
a ) Oa 17. [fo and P are the roots of the equation x* + x -
12, If the roots of the equation px® + x +r = 0 are 1 = 0, then what is the equation whose roots
reciprocal to each other, then which one of are ¢ and [}°?
the following is correc ? A g TM P AWM 2 +x - 1 = 0 F HAE, T o8
afE T px? + X +r = 0 F Td Th-R & e §, T ¥ FSTeR 9o o° T O E 2
W frAfatea & 9 PA-magt § ? (A)x*+7x-1=0 B)x*-7x-1=0
(A) p=2r (B)p=r C)x*-11x-1=0 (D)x*+11x-1=0
(C)2p=r1 (D) p=4r 18. If one root of the equation AxX® +Bx + C =0 is
13. The equation x* + px + q = 0 has roots equal to two and alhah."times the others, then which of
p and g where g # 0. What are the values of p the fO}lOW]I]g'JlS TRUE? . .
and q respectively ? ?ﬂ:q:HFI $I“|AX*.‘tBX+C=OWQﬁTﬂﬁWﬁ€|3W
sz+px+q=0%wpﬁgq%ﬁwﬁ,qﬁ 2 9 e ¥ ¥ wiA-arae € 7
: » e (A) 7B*=3 CA (B) 7B>=4 CA

q# 0% | p ¥R q % A e 7 ¢ (C) 7B% = 36 CA (D) 10B2 = 49 CA

(A) 1,-2 (B)1,2

(C)-1, 2 (D) -1, -2 19. I[fg and [ are the roots of equation x*-2x+4 =
| ’ 0, then what is the equation whose roots are

14. Ifpand qare the roots of the equation x2— 15x o 3
+r=0andp-q=1, then what is the value of G and[.)?

r? B o
Az p et q WHFEmI x2 - 155+ 1= 0 F HA & sl p— TG o 7N P FHE x2 - 2x + 4 = 0 F AT, A TE
q=1¥qMr F A FNE ? o o 5
(A) 55 (B) 56 TR 1 g e 9o Pl g2
(C) 60 (D) 64 (A) x2-4x+8=0
15. Ifa and [ are the roots of equation x* —x+ 1 = (B) X~ 32x+4=0
] . . . C)x*-2x+4=0
0, then which equation will have roots o and Y _
B D)x*-16x+4=0
T g TMBAFO R —x+ 1 =0F JA &, T T | 20. o andp are the roots of the quadratic equation
o 5 : 3 = ? - x - 1= 0. What is the value of a® + §*?
THTRT % A o TR F 7 XX T
(A) x? +2x+ 1=0 (B)x*-2x~1=0 o T B T FHETT X - x - 1 = O FHAT 1o + 7
(C)x*+3x-1=D (D) x*-3x+1=0 P S 2
(A) 47 (B) 54 (C) 59 (D) 68
---------------------(: ANSWER KEY :]
1. Dy 2. (B) 3. (B) 4. (A) 5. (B) 11. (C) 12. (B) 13. (&) 14. (B) 15. (A)
6. (B 7.(3 8. (A 9.(A 10. (B 16. (C) 17. (D) 18. (D) 19.(C) 20. (A)
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a2+b*+c?—ab-bc-ca= -

]
[ Type-VIII ]
Exercise / 3H Yo

{a-b)2+(b-c)*+(c-a)?
2

Special case

fa?+h+c2-ab-hc—-ca=0
thena=b=c wherea, b,ce R
fx+y+z=0,x,y,ze R
then there are infinite value of x, v and z
are possible.
Ifx*+y*+2°=0,x,v.,2e R
then it is possible only and only
when x =0
y=0
z=0
If(a-8)2+{b-64)2+ (c-125)* = 0 then find
the value of Yahe .
Az (a— 8)2+ (b—64)* + (¢ - 125)2 =0T 3abe T

M T F e
(A) a (B) 5a
(C) 5b (D) b

If 3{a* + b% + ¢*) = (a + b + ¢)? then which rela-
tion is true between a, b and c.
AG a2+ b2+ c?) =(a+b+c)2ET@a, b, cH AN

T HEH B
(Aya=b=c (Bla=b=c
Cla<h=<c Da.b=>c

Ifa+tb+c= 4./3 anda®+b?+ ¢ = 16 then find
the ratica:b: c.
afga+b+c= 43 Ra*+b>+c2=16Fda: b

: ¢ TF HEF ST 91 oy |
A)1:1:1 B)1:2:1
(€)2:1:1 (D)1:1:2

Ifx®+u?=2(xy + vz + zu—-y* - 2% then find the
ratiox:y:z:u.
'<‘IFQ‘X”+u2=2(Xy+yz+zu—y2—z'z]%'?ﬁx:y:z:

5.

I[fx®*+a®=y2+ h?=ax + by = 1 then find the
value of a? + b*.
AR x*+a?=y?+b*=ax+by=1Edq a2 + b2 FTH

T I |
(A) O (B) 1
(C) 2 D3

[fa, b, ¢ are sides of a triangle and a* + b* + ¢?
= ab + bc + ca and inradius of triangle is 2./3
cm then find the perimeter of triangle.

7T a, b, ¢ T AABC =i i od & 72 a2 + b2 + ¢2
= ab + be + ca B 721 fAYS % &1=0.97 it B 0,/3
THY. 2 7 T 2 e 9 i

{A) 18 em (B) 24 cm

(C) 36 cm (D) 48 cm
fla+b-c-8*+b+c-a-7)+{c+ta-b-
10)2=0then Ja+b+c =7

qg (a+b-c—-8+(b+tc-a-7P+(cta-b-
102=08 W Ja+btc T HM @ HITT

(A) 4 (B) 5

(C) 3v2 (D) 243

[f{2x - 1)*+ (v + 3)2 + {5z + 7)* = 0 then find the
value of x + y + 2.

T (2x - 1)2+ (y+ 3)2+ (5z+ 7)2=0FdWx+y+2z

=AM B
& -3%, B) -2%4
D) -YAo

© -0

1
[fexpression P+ a JP +K?isaperfect square
then find the value of K.
. 1 P
K & form A & e P+ - P SR L

u % T ST T IS | ) ) ] ]
(A)O B)1 (A) J_rg (B) iE (8] J_rg (D) J_rz
(€) 2 (D)3
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11.

12,

13.

Mother's T=aiq » dispiftra

If x, v and z are sides of a triangle and x2 + y* +
z? = 4{3x + 4y + 5z) - 200 then find the inradius
of triangle.

TfE x, y $it 2z e T gomd g 72 x° + y2 + 22 = 4(3x
+ 4y + 5z) — 200 74 S & Hq:39 &l B Fa F |

(A) 1l cm (B) 2 em
{C] 3 cm (D) 4 cm
6
What is subtracted to make + 2.56b% +

a2
50ba ' a perfect square.

196 s .
=t 2.56b% + 50ba ' ¥ @ 58 w=mE 9 i 7 T

qui &) = ¥ |
(A) 27.6ba ' (B) 5.2ha '
(C) 4.8ba (D) 6.2ba

If a% + b2 + ¢% = ab + be + ca then find the value
S5a* +9p* - 2¢*

a*+h*+c?
7fg a2 + b2 + ¢2 = ab + be + ca ®, @

¥

5a’ +9b" - 2¢*

e WA FE?
a+b +c
(A) 2 (B) 4
(€7 (D)6

If a* + b* + c¢* =

Jab—be +ca is:

T a2+ b2+ c2=12(a+b-2¢)ET Jab—be + ca @

12 {a + b -2¢), then

A A
(A) 6 (B) 4
(€)3 (D) 8
14. If x* + 8y* - 12y - 4xy + 9 = Q, then the value of
(7x - 8y) is:
g x2 + 8y2- 12y - 4xy + 9 = 0 &, T (7x - 8y) FHN
|
(A) 9 (B) 5
(C)12 (D) 21
x?+9y*+4z% + 88
15. If X-2y 12z = 12, then the value of x
-3y +tzis:
X*+9y*+4z°+ 88
x-2y 12z =128 dx-3y +zHAA
T H 2
{A) 13 (B) 11
{C) 5 (D) 10

16.

17.

18.

19,

20,

21.

Ifa?+ b+ &+ 84 =4{a-2b + 4¢), then
Jab —be + ca is equal to :
qfe @ + P+ ¢+ 84 = 4a-2b+ 49§, d@
Jab—Betoa ANTAH |

(A) 410 (B) J10
(C) 5410 (D) 2410

(o, LY LY
if | X" +—5-Kk|+ x+;—p = 0, where k
x
k

and p are real numbers and x = 0, then > is

equal to:

: 2 2
aﬁ[x‘“r t—k] +(x+i—p] =0 % o= k

X
. k
#R p FTafos HE § SR x= 0 8, @ Pliihiakal
B2

(A) p* +1 (B)p* +3
(C)p*-1 (D)p*-3
2 2 2 ]' ]‘ ]‘
If a®+b°+¢” +—+—+—=6, then wahat
a b e
is the value of a*+b*+c??
L, ., o, 11 1 ,
FE a’+ b’ +¢ + —+ S+ =6 ¥, a2+b+c?
a b e
I HH & 7
(A)3 (B) 6
(€) -3 (D)2

Ifa?+ b+ c?+96 =8 (a+ b - 2¢), then
Jab—bc+ca is equal to:

I a2 + b2+ ¢+ 96 =8 (a+ b - 2¢), d@
Jab—bc+ca FEH U fonesh e E 7

(A) 6 (B) 242

(C) 4 (D) 243

Ifa?+ b?=4b + 6a- 13, then what is the value
ofa+b?

T a2+ hi=4b+6a—-13%, Ta+ bFATFIE?
(A) 3 (B)2 (S (D) 10

o

a
I[fa'+1-= e (4b? — b* — 1), then what is the

value of a' + b'?
]

a

Ffgal+ 1= 7 (4b*-b'-1) Edal + b MRS ?
(A) 2 (B) 16
(C) 32 (D) 64
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22.

23.

Mother's Advance + Algebra

1
If3x(3x-8) +y(y+ 1) +4z> -2z + 165 = 0 then

the value of 6x + v + 2z,

: 1
e Sx(3x - 8) +y(y + 1) + 422 -2z + 165 =07,
Wox+y+ 2z R AL ?

(A) 4 (B) 8
(€) 2 (D)6

If9a2 + 4b + 49¢2 + 18 = 2(2b + 28c - 3a), then
at+2b-¢c)=7?
afg 9a? + 4b* +49¢% + 18 = 2(2b + 28¢ — 3a), T (a
+2b-¢)=7?

26 5 11 2

(A) 57 (B) 57 © 57 D37

25.

Ifa*+b*+ ¢* + 170 = 2(8a + 5b - 9¢), then the

value of J45 +8h—¢ =7
g a2 + b + ¢2 + 170 = 2(8a + 5h — 9c) @

J4a+8b-c =7
(A) 12]
(B) 9
(€) 8
(D) 15
Ifa® +4b* + 25¢2 + 18 = 2(a - 2b + 20¢), then
the value of (a+ 2b + 5¢) = ?

7fE a2 + 4b? + 25¢% + 18 = 2(a— 2b + 20c) T (a +
2b+5¢)=7?

24, Ifa’+c*+ 17 =2(a-8b-2b7%, then what is the (A) 6
value of a* + b% + ¢# =7
Agat+c* + 17 = 2{a— 8b—2b?) T a® + b + c* (B) &
T TR FIS | () 4
(A)9 (B)-7 (D)3
(C) 10 (D) -4
ceoeeeeeeenee; ANSWER KEY )
1. (B 2. (A 3 (A 4B 5 (B 16. (D) 17. (D) 18. (A) 19.(C) 20. (C)
6. (C) 7. B 8. (A) 9, (A) 10. (B) 21. (A) 22. B) 23. D) 24.(B 25. (B
11. (B) 12. (B) 13. (A) 14. (A) 15. (A) 26. (C)
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Algebra

(SSC Pre+MAINS-2023)

=

]
[ Type-IX ]
Exercise / 3H Yo

(a+b+c)?=a*+Db?+ c*+ 2(ab + be + ca)
a2+b*+ci-ab-bc—-ca

(a-b)2+{b-c)>+{c-a)?
2

a*+b*+c*-3abc=(a+b+cj{a*+b*+c*—ab-
be - ca)
or

{a+b+c) .
T[[a‘b)2 t{b-c?+ (c-a)7]

or
(a+b+o)fa+b+c)?-3(ab + be + ca)

Special condition

[fatbh+c=0
then a* + b* + ¢* = 3abce

It x+y+ z=0, then what is the value of
e 3 2
X 22,

3z 3xz  3x

2 b

. X° 3 z°
‘~‘1|E’x+y+z=0,?‘ﬂ—Jr—,?r + 5

3z OXzZ 3x

(B) xz
(D) 3y

= AE FTE 7

() 0
(Cly
[fatb+c=1landab+bc+tca=17,
what is the value of a* + b® + ¢* — 3abe?
TEa+b+ec=11TAMab+bc+ca=17% da*+
b® + ¢ — 3abc &AM T BT 7

{A) 121 (B) 168

(C) 300 (D) 770

then

Hix+y+z)=12, xv+yz+zx=44 and xyz = 48,
then what is the value of X* + y* + 2°?

T (x+y+2z)= 12, xy +yz + zx =44 9 xyz = 48
LA+ L MAAFNE?

(A) 104 (B) 144

(C) 196 (D) 288

4.

H(l/x)+(Ll/¥)+(l/z)=0andx+y+z=9, then

what is the value of x* + ¥* + z° — 3xyz?

aﬁ(l/x]Jr[l/y]+(1/z]=0?l€ﬂx+y+z=9%,ﬂ:f

x° + y¢ + z* - 3xyz I HE #EM?

(A) 81 (B) 361

(C) 729 (D)6561

[faja+b+c)=45 hla+b+c)=75andc(a+b

+ ¢) = 105, then what is the value of (a*+ b* +

c?)?

T ala+b+c)=45,bja+b+c)=75TqMc(a+b

+ ¢) = 105 %, (a2 + b? + c?) T A FA T 2

{A) 75 (B) 83

(C) 217 (D) 225

Ifa+ b+c=27, then what is the value of (a —

7+ b-9)+(c-11¢-3a-7)b-9(c-11)?

#Hga+t btc=27,(a-7)P+(b-902+(c-11)*-3(a

~Tb-9)(c- 1) FATFE ?

(A) O (B) 9

(C) 27 (D) 81

[fatbt+tcec=6anda®+b’+ ¢’ - 3abc= 126,

then ab + be + ca is equal to :

A a+b+c=63Ta’+b*+c' - 3abc =126 T

ab + bc + ca T E :

(A) S (B) 6

(C) 12 (D) 8

If(3x— 1) + (4x - 3)* + (2x + 1)° = 3 (3x - 1) (4x
1

-3)(2x+ 1jand x = E,thenx=?

T (3x - 1)7 + (4x - 3PP+ (2x + 1)° = 3 (3x— 1) (4x

-3)(2x + 1)a?r<x¢%%a“1x=?

1
(B) 2 (©)

(A 7

Fa | =
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10.

11.

12,

13.

14.

Mother's Advance + Algebra

Ifa+b+c=2, a>+b*+ c? =26, then the value
of a* + b* + ¢* - 3abce is:
Aa+b+c=2,a2+b2+c2=26,dda®+b®+c3

- 3abc FTHE £
(A)71 (B) 74
(C) 69 (D)78

Ifab+bct+ca=8anda’?+hb?’+¢?=20,thena
1
possible value of 5 fa+b+co)a-b)*+(b-c)*+

(e —a) is:
A% ab + be + ca=8 #itaZ + b + ¢ =20 %,

%(a+ b+ c)[(a—b)? + (b—c)? + (c — )] FTFH T

HH %’
(A) 72 (B) 56
(C) 84 (D) 80

fx+y+z=19, ¥+ +2=133 and xz= 17,
then the difference between z and x is:

A x+y+z=19, ¢+ P+ 2= 133 sl xz= * &,
Al z 3R F A AR
(A) S

(€)6

(B) 3
(D) 4

fx+y+2=3 and x* + y*+ 72 =101, then whatis the

value of JX3 +y' +2° - 3xyz?
?Tﬁ{x+y+z=3,3:ﬁTX2+yz+Zg=101,%, ol

\/X*j +v9+ 2%~ Oxyz AR FNE ?
(A)19 (B) 21
(C) 24 (D) 28
Ifa+b+c=11,ab+bc+ca=3and abc=-135, then
whatis the value of a* + b* + ¢* ?
Afca+b+c=11,ab+bc+ca=33Mabc=-135%, @
a® + b’ + ¢ %1 | 1 BT 2

(A) 823 (B) 929

() 925 (D) 827

Ifx+y+z=3,xy+yz+zx=-12 and xyz =-16,

then the value of \/X'-‘ +y'+2z° +13 is:
AMex+y+z=3,xy+yz+zx=-123Nxyz=-16

B Jx7 +y’ +2° +13 AN T@ HATC 2

(A) 9 (B) 8
(C) 10 (D) 11

15.

16.

17.

18.

19,

20.

Hx+yv+z=7, x2+v2+z22=8Landx*+yv* +z*=
913, then the value of {/xyz is:
AR +y+2z=7,x%+y2+22= 85 M x* + y* +z° =

913 &, Tl yxyz I HF € Hifow 7
(4) 1 (B) 2
(C) 4 (D) 8

Ifatb+c¢c=1,ab+bc+ca=-22and abc=-40,
then what is the value of a* + bh® + ¢* ?

e a+b+c=1,ab+be+ca=-22 T abe =-40
Fd a®+ b+ o H A T hi- [CGL Mains 2020]
(A) 67 (B)-53

(C)-51 (D) 27

Ifx=32.5,v=34.6 and z = 30.9, then the value
of x* + yv¥ + 2* — 3xyz is 0.98K, where K is equal
to:

A x=32.5,y=34.6 8Nz =30.9¢, a0 x>+ y* + 77
— 3xyz FTHA 0.98K ¥ T K &1 7 oAk aer & ?
(A) 1033 (B)933

(C) 1026 (D) 921

pP+rad’+r-3pgr=4.Ifa=q+r,b=r+pand
¢ = p + g, then what is the value of a* + h* + ¢*
- 3abc?
Prg+r-3pgr=481aca=q+r, b=r+paA
c=p+q%, A at+bd+ct—3abe FHF FTE 7
(A) 4 (B) 8

(C) 2 (Dy12

Ix*+y*+27=3(l+xvz), P=y+z-xQ=z+x
-yvand R =x + vy - z, then what is the value of
PP+ Q* + R - 3PQR?

T x+y +2°=3(l +xyz),P=y+z-x,Q=z+
X-yTNMR=x+y-z¥& @ P*+ Q¢+ R~ 3PQR A
AR FE 7
(A)9 (B) 8

€12 (D)6

[fa+b+c=4, thena®*+b*+c*—-12c*+ 48¢c -
64 is equivalent to ;
AZa+h+c=4FWa® +b* +c*— 12¢ + 48¢ -
641 HIF F1d FITE |
{A) 3abc

(C) 3ahc + 12ab

(B) 3abc—12ab
(D) abc + 12ab
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Mother's T=aiq » dispiftra

21. Ifx=332,y=333,z= 335 then find the value 23. Find the value of / 18 9/ HifaQ |
of x* + v* + z* — 3xvz:
A x =332, y =333, 2= 335 T W x* + y* + 2% — (aZ - 4b2)3 +64(b? - 4,;2)3 +{16c2 - az)"‘
3xyz 1 A A I (a—2b) +(2b-4c)*+(4c-a)’
(A) 3000 (B) 9000
(C) 7000 (D) 8000 (A) (a+ 2b)(b + 2c](4c + a)
(B) 2(a + 2b)(b + 2¢)(4¢c + a)
22. Ifa=25b=15, c=-10 then find the value of (C) 4(a + 2b)(b + 2¢)(4c + a)
a’+ b’ +c¢* - 3abe (D) —{a+ 2bj(b + 2¢)(4c + q)
(a-Db) +(b-c)f +(c-a) 24. Find the value of [(4a - 5b)® + (5b - 3¢) - (da -
7fg a = 25, b = 15, ¢ = -10 ¥ @ 3c)]
o [(4a - 5b)* + (5b - 3¢)* — (4a— 3¢)*] FTHA T TN ?
a’ + b+ ¢’ - 3abe - A) 3(4a - 5b)(5b - 3c)(4a - 3c)
(a=b)" +(b-c)’ +{c-a)’ T A FA | EB)O ' '
(A) 30 (B)-15 (C) =3(4a - 5h){5b - 3c)(4a - 3c)
(C) =30 (D) 15 (D) 60abe
1. () 2.(D) 3 (D 4(C) 5 (B 16. (B) 17. (A) 18. (B) 19.(C) 20. (B)
6. (A) 7.(4 8 (B) 9.(B 10. (4 21. (C) 22. (D) 23. (B) 24.(C)
11. (A) 12. (B) 13. (D) 14.(C) 15. ()
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Algebra

(SSC Pre+MAINS-2023)

]
[ Type-X ]
Exercise / 3H Yo

If 15— (3 - a)? is maximum, then find the value
of a?

e 15 - (3 - a)* = AR AlHwad 81, 9 a % | A6

Hife-
(A) 0 (B) -3
(C) 12 (D) 3

Find the ratio of a and b ? if the value of 5 - (3a
- bh)? is maximum.
a T b I ATIE J i 2 AT 5 - (32— b)> HHH

AT ¥
(A)1:3 (B)3:1
(C)3:5 (D)5:3

Find the value of x ? if the value of

(\/§+X—\/§)(\/g+\/§—X) is maximum ?

xaﬁmﬁaﬁ‘cﬁlﬁ?}?ﬂﬁ(«/5+x—-\/§)(x/§+f—x)
1 HH ST © |

Find the minimum value of 4x>-2x+ 57
4x* — 2% + 5 1 a9 A 9 e ?

19 4

&) B) 15

g-Y D)
©- (D) - 14
Find the minimum value of 4x* + 4x + 9 7

4x* + 4 + O FT =TT A I B ?

(A)-8
(C) -9

(B) 8
(D)9

Find the maximum value of 20 —x* + 2x ?
20 — x? + 2x 1 SAHTH AN I A ?

(A) - 20 (B) 20

Cy-21 (D) 21

7.

10.

11.

Find the minimum and maximum values of
x+9)(x-2)?
(x + 9)(x — 2) &1 7 TS TaRaH AF 14 hifod 7

oL 121 B 121
(]oo, 4 [)4’00
_121 oL 121
4 7 (D) =, 3

Find the minimum value of sum of squares of
roots of quadratic equation x* - (p-3)x+p-87?

fe=na TR x2 - (p-3)x + p — 8 T Hail & ol & AT

] FAAH HH A4 k(T ?
(A) 3 (B) 8
(C) 9 (D) None of these

1
Find minimum value of x + - ? If x is a posi-

tive real number ?

1 e s
X+ 1 AAH HH J6 i 7 ARG x TR G

HRETee T 8 2
(A) 1 (B) 2
(€C) —e (D) oo

. . . 1
Find minimum and maximum value of x>+ — 7
X

1 . ne
X2+ — R IH U8 ATUERTH HF A1 it ?

X2
(A) -2, - B)2,
(C]—m,—Q [D]oo,Q
If a > /2., then find minimum value of
a+ = +57

a*-2
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12,

13.

14.

15.

16.

17.
aca> 2 B9 a2+ ———+5 I A A4
wHifer ?

(A) 2 (B) 5
(€7 (D)9
If x > 1, then find minimum value of
X%+ -37
x*+1
. N . 18.
Tfex > 1‘5':1,EITX”+X2+1—3 71 =AqH HF T4 i ?
(A) 2 (B) -2
€1 (D) -1
If x > 1, then find minimum value of
<+ 5% 19,
x-1
FE x> 1B, a1 X+ — — 5 =g A 9 R ?
(A) 2 (B) -2
)1 D-1
(C) (D) 2o.
4
Find maximun value of :( ?
x"+1
x' .
——— o SIHERAH HIF H1d it 7
X' +1
(A)O (B) 0.5
€1 (D) 2
ad? 1> 21.
Find minimum value of (a + b + c)f—+ —+ —J ?
\. A h ¢
(a+b+c){1—+:—+1—] I =ATH HH A4 HlFae 7
a ¥ C
(%) 3 (B) 6 22.
(C) 9 (D) None of these
How many values of x are possible ? IF
1
WXZ—X+l+t————=9 _ 2
Vx?-x+1 2-x 23.
. . - 3 2 ]'
X R AR § 7 VR X+l
-x+1
2 —x*E|
(A) O (B) 1
(C) 2 (D) None of these

Mother's T=aiq » dispiftra

If a, b, ¢, d are positive numbers and atb+c+d=1,
then find the maximum value of abcd ?
7fE a, b, ¢, d ¥R ST 2 94 arb+e+d=1 7, T

abed T A4y A1 9 ®ifeE 2
1Y 3
o (5) e ()
1
(€) 7 (D) 1

I[fat+b+c¢c=15, then find the maximum value
of ahc ?

IE a+ b + ¢ = 15 7, T abe ¥ AfdwaA 99 I

S,
(A) 5 (B) 125
(C) 15 (D) 25

If a+ b=20, then find the maximum value of
(a+3)b+5)7?
TfE a+ b =207, @ (a+ 3)(b + 5) 1 Afeekas 74 TG

e
(A) 196 (B) 195
(C) 192 (D) 100

[fatb+c+d=1, then find the maximum
value of (a +1)(b + L)ic+ 1)}{(d + 1) ?
Aca+tb+c+d=13d (a+1){b+ 1){c+ L){d+ 1)
=1 SATHRTH HH 70 i 7

(A) 1 (B) 16
1 625
€ 256 (D) 556

[fx+y=12, then find the maxvalue of (x-3)(y+5)?
TG x+y=12 T, T (x-3)(y+5) 1 SATERTH T T Fiford ?
{A) 36 (B) 25
(C) 49 (D) 64

If 2x + 3y = 153, then find the maximum value
of x3y3 7?7

MG 2x + 3y = 15 7, T x4y* 1 STHHRTH 71 I i ?
(A) 243 (B) 81

(C) 27 (D) 15

[fa+b+c+d=1, then find the maxdmum
valueofabt+bc+cd+da?
Ica+b+tc+d=1% dab+bc+cd+dad

AfereRTe A F1a Hife ?

(4) 3 (B) 1
1 1

(€ 5 (D) 1
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24.

25.

Mother's Advance + Algebra

fx+y+2z=13 & x, vy, z €N, then find the
maximum value of (x - 2)(y + 1){z—-3) ?
ARG x+y+z= 183 &x,y,z e NT, @l (x-2)(y + 1)(z- 3)

=T ATRTH A 4 w2
(A) 25 (B) 30
(C) 54 (D) 27

If 2% + y = 10, then find the maximum value of
X%y ?

afg 2x + y = 10 7, T x*y* %1 3740 oH 919 #ifere ?
(A) 684 (B) 864

(C) 846 (D) 468

29.

afe a2+ac= 12, b*+bd =10, 2+ ac=4 T d? + bd
F, Wa+b+ ¢ + d T =TH TS AHTH 79 T Fie ?
(A)8,-8 (B)- 8, 8

(C) 8.8 (D)-8,-8

If a, b, ¢ are positive real numbers, then find
1

the minimum value of (a®+h*+c?) {—+f+—_} ?
ab bho ac

afe a, b, ¢ "9TCA® ATEATa®m @AW T, A

26. If pqr = 64, then find the minimum value of (A) 4 (B)9
Sp+q+3r? ({C) 6 (D)8
e pgr = 64 &, @ 2p + q + 3r F FFGH A T
A 7 30. Find maximum value of . ———— ?
(A) 12 (B) 24 I +dx+3
(C) 10 (D) 20 1 ]
o ————— % AfYHaT A1 Ja Fifer ?
27. Ifxy = 8, then find the minimum value of 2x + IxT+4A%x+5
v? 3 11
afg xy = 8 T, T 2x + y T =J7aH A1 1 Firad ? (A) ﬁ (B)
(A) 8 (B) 9 i
(C) 17 (D) 10 3 11
©- 5 O)-
28. Ifa*+ac=12,bh*+bd=10,c?2+ac=4 and d?+bd, N
then find the minimum and maximum value
ofa+tb+c+d?
---------------------(: ANSWER KEY :]
1. D 2.4/ 3. (D) 4, (A) 5. B 16. B) 17. (A) 18. (B) 19. (4 20. (D
6. D 7. (Q 8. (Q) 9. (B) 10. (B) 21. (C) 22. (A) 23. D) 24.D 25. (B)
11. (D) 12. (B) 13. (B) 14.(B) 15. () 26. (B) 27. (A) 28. B) 29.(B 30. (4
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Algebra

(SSC Pre+MAINS-2023)

[ TyPei-XI

Exercise / 3H Yo ]

1. If ax= b = ¢* and abe = 1 then the value

1 1 1

of Z* — *+~ will be equal to.

X vV 2

.11 1

o = b= @ ofabe = 16,A [+ T
feprer =RreR B 7

(A) -1 (B) 0

(€)1 (D) 3

2. Ifx=y", yv=2"and z=x" then the value of abc

is.

A x =y, y=2"3N z=xFT T abc FAAFNE ?
(A) 1 (B) 2

(C) -1 (D) O

3. If a* = b* = ¢ and b* = ac, then what is
Ll equalto?
= Zf:qu 0
) . . 1 _
aﬁa‘=b*‘=czaﬁ1b2=a0%,?ﬁ;+;mw
§7
1 1 2 2
A) — B) —— Cy — D) ——
Wy, ®-5, ©; O
4, If 3* = 4¥ = 122, then z is equal to.
AfE 3= 4 = 124 ¥, A 2z FFp TR € ?
(A) xy (Byx+y

Xy
X+y

Q) (D) 4x + 3y

5. If3"=27"=81"and abc = 144, then the value of

i, 1 13,
12 a 2b bc 18

o 15 B o
A 120 T
o 3 D) 155
© = D) 120
[f 2= y2* = 7% £ 0 and x* = yz, then the value
ab+bc+cea,
Of —_—ig
bhe
N ,. ' 8 . b+ bc +
ﬂﬁ'xza:y“’b:zﬁt‘-ioai‘ltxz=y2%’ﬁ'%
?ml—lﬂ]:[ﬂ'l—da'ﬂml
(A) 3
(B) 3ac
(C) 3ab
(D) 3bc

If, 272 = @~ A-vy Jle-fe = IFv=n Fhede = Qs then the
value of 2x + 3y + 5z iy :

i Perv2e = G0 -Svs Fhite = Q5 Rbse = Qo ¥ qr ok +
3y + 5z =l HF HAEY |

(A)36

(B) 44

(C)32

(D) 28

I[fx* =1, y*= 1024 and z* = 729 (x, y and z
are natural numbers), then what is the value
of (z + 1p++'?

s x7 = 1, yr = 1024 991 257 = 729 (x, y 90 2
T faE TEE E) Al (z + 1 R AR TR ?

(A) 6561
afg 32 = 27v = 81° 8T abc = 144 ¥, @ (B) 10000
1 1 1 (C) 4096
12[;+%+§]WWWWI (D) 14641
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; 10. If2*=7* = 147, then what is the value of z as x
9, If2*=3"=6=then what is the value of — + v andy.
® A2 =7 = 14 ENx TNy FTTH z HIHA £-
1
+ — =7
. X+
’ ™y
.1 1 . .
AR 2 =37 =6=EW — + — + — FAAFNE?
X ¥ Xy
(B)
3 -1 X+¥
(A) 0 (B) 1 © 3 (D) = (C) x+y+xy
(D)xy - (x+¥)
1. (B) 2. (A 3. (Q 4. (C) 5. (Q) 6. (A) 7. (B 8. (B 9. (A) 10. (B)
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1
Type-XII

[ Exercise / I+ Y2a1 ]
a b C
1. If + + = 1, then find the value a* - he b* — ca c* —ab
l1-a 1-b 1l-c 4, If — . . = 1, then find
a’+bc b2 +ca c?+ab
¢ 1 N 1 + 1 . a b 4
o 18 : : 2 c
l—a l—b l—C y y + + H .
the value of a?+bc bh? +ac c?+ab 18
a b c 1 1
aﬁl—aJrl—b 1—c=1%’?ﬁl—a+1—b a*-bc b’-ca c*-ab . a*
aZ+bec b*+ca cZ+ab " at+be
+ =1 A fores =L BT 2 b 4
l-¢ o > bwnﬁf‘ﬂ%wﬁm?
(A) 1 (B) 2 +ac c?+a
(C) 3 (D) 4 (A) 2 (B)-1
) ) ) (C) -2 (D)0
2. Ifl—a + -5 + 1o = 1, then find the value a b e
5. If = 1, then find the
b+c a+c a+hb
. a N b c .
M1a T T 1 a b? et
value of + + is
) ] : . b+c a+c a+b
N : a
-q-hl—a+l—b+1— 1=E‘;’Eﬁl— +1—b a b c a? b
+ =1% 4 +
b+c a+c a+b b+c a+c
+ — 7 o TR IR BT
1- 4 N
+ =1 A TormeR F@Es g 7
(A) -1 (B) -2 +b
(C) -3 (D) -4 (A) O (B) 1
. C)2 (D) 3
1 §] 1013 (
3. If + 75 + ————— =1, then find the
x+1 ¥+3 z+1013 6. It a | b c _ 1 then find th
1-2a  1-2b  1-2¢ o eminaiae
al f s + +#' .
ERE kvl T y+3 T zv1013 Y velue of — L+ 1 1
1-2a 1-2b 1-2¢  °
1 3 1013 . . X
e e T A TS 2, P c _lyas 1
"1-2a 1-2b 1-2¢ 2 77 1-2a
¥ z . -
P e SR € 7
y+3 ' zxto13 0 i L+meﬁﬂ%w€m?
() ®) 1-2b 1-2¢
A) O B) 2
©) 3 (D) -2 (A) 1 (B) 2
(€) 3 (D) 4
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aQ bQ (:2
+ +
2a+b 2b+ce 2e+a

Ifa+b+c=0and

c? a2
4, then find the value of ot b + bic T
bz
=7
2c+a
) a4 b'z o2
Aarbre=0dR oo+ T o
s c? a2 he .
4B, WMo+ e+ o I e
SE B 7
(A) 4 (B) 12
(€) 16 (D)9

b J—

Ifx?=y+z y*=z+x, 22 =x+ythen value of

1 1
+ +
y+1 z+1

is : where (x # 0)(v = 0)

x+1
(z=0)
. .1
2 = + 2 = + 2 = + +
A x2=y+z,y?=2z+X,22=X y%,T'ﬂXJrl
: : fore T 7 Afe (x = 0
+— 1:|'|7'f + ft
vl i =L I 7 Al (x # 0)
(y=0)(z=0) &1
(A) -1 (B) 1
(€) 2 (D) 4

9.

10.

<2 }72 z4
If by +cz  zrax  ax+by - 1, then find
b .
the value of a + b + c is
a+x Ty Cc+Z
afg e Y z 13,9 —
= e = = +
by+cz c¢z+ax ax+by Ta+x
& < g R T ?
+ 7 7 7 ¢
b+y P EARIE]
() -1 (B) 2
(€)1 (D)2
b- : -b
oS ¢ 2P0 L B70 g anda-b+cz0
a b c
then which statement is true :
b-c¢ a+ece a-b
afg + + =1% 3Ra-b+cz0
a b C

2, 9 = | 9 - e g 7

111 Gl 11
(]b_a C [)a_b C
C l—lJrl D) N

€ =3 (D) None

D 7. (&) 8. (B) 9.(C) 10. ()
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[ TypelXIII

Exercise / 3H Yo ]

If (x + 2) is a common factor of X* + ax + b and x*
+ bx + a then the ratio a : b is equal to.

A (x+2), 2 +ax+b FRx2+bx+a® TH
HEFETE § 9 S a ;b heh SR § 7

{A)1 (B) 2

(©)3 (D) 4

The quotient of 8x* - yv* when divided by 2xy +

4x% + y* is.

8x* — y* I 2xy + 4x* + y* H i #1 W avTER
M

(A) 2x +y (B) x+ 2y

(€) 2x -y (D) 4x—y

If 5x* + 5x* - 6x + 9 is divided by (x + 3] then
the remainder is.

7t 5x° + 5x2 — 6x + 9 W (x + 3) | fawiera foman s
g, dowe e 7

(A) 135 (B) -135

(C)63 (D) -63

Let fix]) and g(x) be two polynomicals (with real
coefficients) have degrees 3 and 4
respectiveluy. What is the degree of f{x) g(x) ?
A f{x) 3T g(x) & TGS (ArEdfok Uik * W) €,
Tt = woen 3 iR 4 ¥ 1 fix) g(x) Hr e wE 2
(A) 12 (B) 7

(€)7 (D)3

The remainder when 3x* — 2x%y — 13xy® + 10vy*°
is divided by (x — 2¥) is equal to.

T 3x* — 2x%y — 13xy? + 10y* B (x — 2y) § Taetea
feran < €, 1 ot fFTE FER B © 2

(4) O (B)y

(€)y-5 D)y~+3

Ifix+ 3) is a factor of x* + 3x? + 4x + k then
what is the value of k ?

7T (x + 3), X* + 3x2 + AX + K W THETE E, Mk
AR FE ?

10.

11.

(A) 12
(C) 36

(B) 24
(D) 72

The quotient when x' —x* + 7x + 5 is divided by
(x + 2)is ax* + bx* + cx + d. What are the values
of a, b, ¢ and d respectively ?

TAX -X2+ TX+ 5 (x+ 2) § Taetora fan wmar &,
ﬁT‘lIFTWaX""+bX2+CX+dm%la,b,caﬂ'{d%
AT AT FAE ?

A)1,-2,3,1 B)-1,2,3,1

(C) 1,-2,-3, -1 (D) -1, 2, -3, -1
Given that the polynomial (x* + ax + b) leaves
that same remainder when by (x- 1) or (x + 1)
What are the values of a and b respectively ?
fean T ¥ fiF sgTR (x2 + ax + b) F (x - 1) @ (x +
1) | fafag F3 R I9FA T TAE | a 3R b F A

AT TS ?
{A)4 and O (B) 0 and 3
({C)3and 0 (D) 0 and any interger

What are the values of p and q respectively, if
{x-1) and {x + 2) divide the polynomial x* + 4x*
+px+q?

p &R q F 7 wHm: FE, A9 (x - 1) R (x + 2) TR
x*+4x2 + px + qF fAfea w=d € 7

(A)1,-6 (B)2,-6

C)1,6 (Dy2,6

If x* + 2x% — 5x + k is divisible by x + 1, then
what is the value of k?
TE X+ 2x2 - 5x+ k, x + | A aufsodma®, T K=

A T E ?
(A)-6 (B) -1
(€0 D)6

Find the remainder/ ST% I F4 ? (x' + 7x* +
SX*-4x+ 15) +(x+2)
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12. Find the remainder/ Yo% I &4 2 (X' + 1) + (x 15. Ifx’-2x*+ px - q is divided by x* - 2x - 3, we
+1) get (x - 6) as remainder, then find the values
(A) 4 (B) 1 ofpandq?

(C) 0 (D) 2 AR x° — 2x2 + px - qH x> - 2x — 3 ¥ FAafa fwan
BT (%—6) T =T S . FE ?

13. When x* + 7x + 15 is divided by (x - 5), then ST %, T (x-6) ¥ 7E/1 8, W p T+ q 1 A 774 '
remainder will be— (A) 2,6 (B)-2,-6
x4+ 75+ 158 x - 5 9 I T ITFA 19 FA 7 (©)2.-6 (D)-2.6
(A) 75 (B) 23 16. I[flk* + 4x* + 3x - 4 and x* - 4x + k leave the
(C) 65 (D) 50 same remainder when divided by (x — 3}, then

the val fkis—

14. When number x'* + 31 is divided by x'+ 1, the \e v ) ve otk1s s .
remainder will be— : ARG kx* + 4x? + 3x - 4 X - 4x+kH (x - 3) T
e g foam e &, @ = S s B kR AN
(A) 30 (B) 32 A ?

(€) 0 (D)9 (A) 2 (B)-1
(€)1 (D)0
(s ANSWER KEY ¢
1. (A 2. Q) 3. (D 4. (B) 5. (A) 11. () 12, (D) 13. (A) 14. (B) 15. (D)
6. (A) 7.(A 8. (D) 9.(4 10. (3 16. (B)
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[ Type-XIV

Exercise / 3H Yo ]

(8a)? + (11b)? + kis a perfect square number
k=7

k= o °F & ferd (8a) + (110)° + k SAfiyeate quf
TE?

(A) 176 ab
(C) 32 ab

(B) 1682 ab
(D) 94 ab

9x? - kx + 16, is a perfect square number find
k=7
=HE 922 — koo +16 F I A a9 S AU ko AA

Teperm = =nfE |
(A) 21 (B) 24
(C) 31 (D) 34

1 .
P+ Z\/ﬁ + k? is a perfect square number find

k=7
e e e 3 et o+ + K st o o 2

1 1 1
@y B ©5 O

3335 x 3337 =1 gl A Teh o) =0 e o1 9 |
What will be added to make 3335 x 3337 a per-

fect square ?

(A) 1 (B) 4 <8 (D) 16

1+6931x6933 5

Find the value of

6932

W2 s
A) 6932 B) 5932
(C) 5911 (D) 2395

809436 x 809434 +1 5

Find the value of

809435 x 809435
(A) 1 (B) 2
(€) 3 (D) 4

Find the value of 10062 - 1007 x 1005 + 1008
x 1004 - 1009 x 1003 —

(A) 06 (B) 03

(C) 02 (D) 01

8.

10.

11.

12,

13.

14.

IfN = (12345)2 + 12345 + 12346 then (N =?

(A) 12345 (B) 12346
(C) 12378 (D) 12396

(x — 2a)(x — 5a)(x — 8a)(x - 11a) + ka' perfect
square number then k=7

7% (x - 2a) (x - 5a) (x— 8a) (x - 11a) + ka* v =1
£ k w1 AR e g

(A) 81 (B) 49

(C) 64 (Dy 72

(x — a)(x — 2a)(x — 3a)(x - 4a) + ka', perfect
square number then k=72
afg (x - a)(x - 2a)(x — 3a)(x — 4a) + ka* i & @

k =1 A R g |
(A) 1 (B) 27
(C) 16 (D) 81

(x — 2a)(x — 6a)(x — 10a)(x — 14a) + ka® is a per-
fect square number then k=7

7fE (x — 2a)(x - 6a)(x — 10a)(x — 14a) + ka' 1 77
¥ o k 1 A faRa g

(A) 625 (B) 256

(C) 1296 (D) 81

What is added in x (x + 3) (x + 6] (x + 9) to be-
come a perfect square.

S x (x + 3) (x + 6) (x + 9) A S 9 5 3w ol A
il
(A) 37
(C) 3°

(B) 3°
(D) 37

What is added in x(x + 4) (x + 8) (x + 12) to be-
come a perfect square.

e x(x+4) (x + 8) (x + 12) # a1 Siel I@ Tk 2wk qof
T B |
(A) 4

(C) 4

(B) 47
D) 4

J300x301x302%x303+1 =7?

(A) 90101 (B) 900901
(C) 90091 (D) 90901
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15.

16.

17.

18.

Mother's Advance + Algebra

600 X601x602x603+1 =7

(A) 361801 (B) 360801
(C) 360180 (D) 36001

What is added in x' + 8x* + 26x* + 40x + 15 to
he a perfect square.
Mg X" + 8x* + 26X + 40x + 15 H T G I H1 3

e gl A oA S
(A) 5 (B) 10
(C) 15 (D) 20

What is added in x"+ 4x* +16x% + 24x + 30 to be
a perfect square.
qfE X' + dx* +16%4 + 24x + 30 H FN TG 9E FE TH

g e o |
(A) 6 (B) 19
)5 (D)7

If x* + 2x* + px* + qx + 9 is complete square
where p and ¢ are positive then find the value
ofpandq.
’:lﬁx‘*+2x3+px2+qx+911_mr‘3£ﬁa1f%|§|ﬁp3ﬁ?q
YT & T p 3T q 1 HE R

(A)p=5,q=7 Byp=6,9=7
C)p=7,9=6 (D)p=7,q=8

19.

20,

Find the square roots of a +x +y2ax +x* .
AR a+ x +2ax + x* ¥ 3T A FTEM

V3 +1
® 5

Find the square roots of 25 — /33> - 2ah-1b* .
A 0a — /32 — 2ab — b® & | T T THE FME
(A) 2

e[ ANSWER KEY 1)

A 2. B 3 (¢ 4@ 5 (@A
9. () 10. (A)

11.
16.

B) 12. (A) 13. (A)
B) 17. (A) 18. (C)

14. (D) 15. (A)
19. (A) 20. (A)
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